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a ~ H J ! " <
(@) Can Cost Accounting be used as a substitute system for Financial

ACCmmling‘) (8)
(b) A company buys in lots of 12,500 boxes which is a three months’ supply.

The cost per box is 2125 and the ordering cost is 3250 per order. The
mventory carrying cost is estimated at 20% of unit value per annum. You are

Iequired to ascertain:

(i) the tota] annual cost of existing inventory policy, and

(ii) the amount saved by employing the policy of buying economic order

quantity. (7)
OR
(a) Differentiate between any four of the following :
(i) Out of pocket cost and Sunk cost
(ii) Selling costs and Distribution ;:osts
(iii) Purchase requisition and Material requisition
(iv) Bin card and Stores ledger card

(v) Scrap and Spoilage (&)

(b) A supplier quoted the following prices for material R :

Lot size Price per kg

200 kgs or more but less than 500 kgs 210

| —

500 kgs or more but less than 800 kgs k7

e

800 kgs or more X5

r \ (3 ) RN
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(a)

(b)

R

He allowed a trade discount of 25%. In addition, he offered a cash discount
of 5%, if payment is made within 15 days. Every container, with a capacity
of 100 kilograms of material was charged at T30 but was credited at 720
on return. The buyer decided (o buy 800 kilograms. Transport charges
amounting to 3400 were to be borne by the buyer, while the supplier agreed
to bear insurance charges of 200,

Normal loss (scrap) of 5% of the quantity received is expected during storage.

- The unit price per kg of scrap is ¥2. Calculate

(1) Purchase priée per kilogram.

(ii) Issue price per kg of material R. (7

How is overtime premium dealt with in Cost Accounts? How can overtime
be controlled? (5)

From the following information relating to a workshop with 5 machines of
exactly similar type, compute Machine Hour Rate :

Rent & Rates (proportional to floor space océupied) for the shop 48,000 p.a.
Depreciation on each machine ' 10,000 p.a.

Expected repair and maintenance cost for the 5 machines for the year 215,000

" Power consumed @ ¥0.50 per unit for the shop for the year 350,000
Electricity charges for the shop for the year 315,000
Sundry supplies such as lubricants etc. for the shop 31,000 p.m.

Hire purchase Installment payable for the machines
(including 75,000 interest) ¥15,000 p.a.

Besides the above expenses, 2 attendants for 5 machines are paid 312,000
p.m. each and the shop supervisor is paid a monthly salary of ¥30,000.

The machine uses 10 units of power per hour. (10)

OR
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The following figures have been extracted from the accounts of a manufacturing
concern for the month of December, 2022 :

Production departments | Service Departments

PR) |QR) |[RR) |[XR®) |Y®)
Direct Material 40,000 | 60,000 | 48,000 [ 2,000 | 800
Direct Labour 32,000 | 40,000 | 36,000 | 1,500 | 1,000
Indirect Material 3,800 | 4,800 | 800 | 6000 | 1,600 |
Indirect Labour 3,600 | 4400 | 1,200 | 4,000 | 2,600

Other expenses of the plant are :

Power and light 324,000
Rent and rate 11,200
Insurance on assets 34,000
Meal charges 12,000 .

Depreciation 6% per annum on capital value of assets

The following further details are available :

Production departments Service Departments
PR) QR R . X R.) Y RR)
Area (sq f) 4,000 4000- 3,000 | 2,000 1.000
MM@S_ME,OO,OOO 12,00,000 | 8,00,000 | 6,00,000 | 4.00.000
Kilowatt hours 4,000 4,400 1,600 1,500 500
| Kilowalt
No. of employees 90 120 30 40 20
Direct labour hours 3600  [3200  [2200

You are required to

(1) Apportion the cost of service departments using Simultaneoyg Equations
Method, if their expenses are to be apportioned as under :
DI =Gr e

ATINDMCOLLEGRE IR ARY
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P Q R X Y
X 30% 40% 20% 10%,
Y 10% | 20% | 50% | 20%

(i) What will be the total cost of an article, if its raw material cost is 2500,
direct labour cost T300 and it passes through departments P, () and R for
4. 5 and 3 hours respectively. (15)

(a) What are the differences between Job Costing and Contract Costing?

(5)

(b) Prepare Cost Sheet from the following information relating to XYZ Company :

Units produced 20,000

Units sold 16,000

Direct material cost per unit %100

Direct labour cost 10,000 hours @ %80 per hour

Expenses paid for materials purchase :

Cartage %15,000

Insurance 35,000

GST - ¥10,000
Cost of electrical utilities %1,00,000
Royalty paid per unit of sale %10
Manufacturing Overheads %1,10,000
Interest on loan for purchase of machine 325,600
Penalty for violating patent 210,000
Repair and maintenance ¥25,000
Realization from scrap 15,000
Primary packing %40,000
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‘\\‘Cm\dmy packing

725.000

Incentive received from the State Government 250,000

Supervisor's salary

(3/4th time devoted in administrative work

relating to production)

Sales promotion and other selling expenses

OR

280,000

Z15 per unit (10)

An operator, Mr. X, runs a 50-seater bus as per the following schedule :

R Distance No. of days run Seating capacity
_— puLE (one way) per month occupied [
Delhi to Jaipur and back, the same day 300 Kms. 10 80%
Delhi to Meerut and back, the same day | 100 Kms. 10 90%

For 5 days in a month, the bus operates locally covering 120 km daily at full

capacity. Following are the other details :

Cost of the bus
Life of the Bus

Salvage value of bus at the end of useful life ?
Salary of the driver per month

Salary of the conductor per month

Insurance of the bus

Diesel consumption

Road tax

Annual Repairs & maintenancel

Mobil oil

supervisor’s salary

[ Y
WM

%21,00,000

2,00,000 kilometres
3,00,000

310,000

?9,006

230,000 per annum

6 kms per litre @ %60 per litre
X18,000 per annum
324,000

T80 for every 100 kms
230,000 per month
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Driver and conductor are also paid S%of net taking as commission. During the
month, the bus met with an accident which resulted in an additional cost of

25,000 of which only ¥15.000 were recovered from the insurance company.

Prepare Operating Cost Sheet, giving fare per passenger Kilometre, fare for Delhi-
Jaipur, and Delhi Mcerut journey, it the operator intends to carn a profit of 20%

on net takings, and the passenger tax is 15%. (15)

4. The following details pertain to process | for March 2023 :

Opening work in progress (750 units) 315,000

Degree of completion:

Materials 100%
Labour | 66.666%
Overhead 33.333%
Materials introduced during the month (9,250 units) ¥120,350
Labour 331,120
Overheads 337,450

Closing work in progress (1800 units)

Degree of completion:

Materials 80%
Labour 60%
Overhead 30% '

Normal process loss is 10% of total input (including opening work in progress

o . . A
and units introduced during the month) .-
- ~\/
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Realizable valye of scrapped units 32 per unit
Units completed and tra;nsfcrrcd to next process 7,500
The Campany uses FIFO method.
You are required to prepare :

(1) Statement of equivalent production,

(i) Statement of cost showing cost per equivalent unit for each cost element,
(iii) Statement of evalﬁation,

(iv) Process account,

(V) Normal loss account, and

(vi) Abnormal loss/gain account. ’ (15)
OR

A Contractor commenced a contract on 1 July, 2022. His cost records reveal

the following information on 31 March, 2023 :

o  Materials sent to site . ¥7,75,000
o Labour paid . %10,75,000
. Remuneration to engineer T20,000 per month
.  Administrative expenses %2,80,000
. Materials at site . %75,000
. Cost of plant sent to site (on 1.7.22) %6,50,000
. Labour cost outstanding %1,00,000
. Salary of supervisor 215,000 per month
. Cash received ¥22,00,000
GThates A e sxcidtert
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Plant used for the contract has an estimated life of 5 years with residual value at
the end of life of 50,000. Materials costing 13,500 were found unsuitable and
sold for ¥10,000. Contract price was agreed at T30 Lakhs. The value of Work
certified on 31.3.23 was ¥27,50,000 while the cost of uncertified work was
estimated at ¥30,000. Depreciation on plant is charged on the Straight-Line

basis. The supervisor devotes 2/3 of his time to the contract in question.

L ]

As the contract is very much near completion, the contractor estimated the following

additional costs that would be incurred to complete the contract by 30.6.2023 :

*  Materials (in addition to those on site) %15,000
*  Labour 350,000
*  Administrative expenses : | 320,000

Prepare Contract A/C and compute thé'figﬁre of prdfit to be taken to P & L
A/C for the year ending 31.3.23. : (15 Marks)

(@) What are the causes of under/ over abéorption of overheads? How should

such an amount be disposed of in the books of accounts? ' O]

(b) Pass journal entries for the following transactions, in an Integral system of

accounting :

(i) Raw materials purchased (40% on credit) ¥500,000
(i) Wages (70% direct) paid ~ %150,000
(iii) Selling & distribution overheads 240,000
(iv) Sales (50% on credit) ‘ | 800,000
: (5)

ey e e g Iddled
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(¢)

(a)

(b)

(c)

10

Show journal entries under Non integral System of accounting :

(1) Stores 730,000
(i) Normal idle time of Factory work 220,000
(i) Rent of building 280,000

(172 of the building is occupied by manufacturing,
1/4 of building is occupied by general office, and the

remaining 1/4 of building is occupied by the marketing unit) (5)
OR
Write a note on Activity Based Costing. (5)

Write a note on advantages of ‘Cost plus Contracts’ to the contractor and
contractee. : : (5)

The Cost Accounts of Alpha Ltd disclosed a loss 0f ¥5,00,000 for thé year
ended 31 March, 2023.

From the information given below, prepare a Reconciliation Statement, and
ascertain the profit/ loss as per the Financial accounts:

Factory overheads under recovered - %70,000
Administrative overheads over recovered 340,000
Depreciation charged in financial accounts 3150,000
Depreciation charged in cost accounts $120,000
Interest on investment not included in cost accounts 50,000
Income Tax provided in financial accounts £100,000
Stores adjustment (credited in financial accounts) 210,000

(5)

it
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3.

1.

Tl e e ® )

T W - v w5 I st A1 B &6 v s F Aftwg, A
T IR 1 oW v 6 B ARY

State True (T) of False (F). Give reasons for the
same :

(a) The COUNTIF function in spreadsheets is used

to count the number of cells that is based on sum
of specific numbers.

(b) FIND command in Word is used to find only the
specifié text.

(c) CTRL+R is the keyboard shortcut for copying
selected text or objects.

(d) Windows is an application software.

(e) Function key F5 is used for slide show in
PowerPoint presentation. (5x%2)

(a) Differentiate between serial and sequential files?
Describe how searching is carried out in each
type.
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(b) How do you insert 2 function in Spreadsheet?

Explain the syntax to add, find maximum and

minimum of numbers.

OR

(a) Discuss in detail the various applications of

computers in business.

(b) What is page formatting? List and describe the
different types of margins that can be set during

page formavtting. ‘ (10x2)

3. (a) Explain the different types of keys in 2 relational

database system

(c) Explain the steps to insert a line chart in
Spreadsheet? Give suitable examples 10

differentiate between bar and line chart.
OR

(a) What is text alignment in Word? Discuss the

different types of alignment options.

software? How is it different from
(10x2)

(b) Define system
application software?

.« P.T..
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4. (a) Describe the use of financial functions in a
Spreadsheet. Describe any three financial

functions and their use.

(b) Explain the difference between Slide master,
Handout master, and Notes master in PowerPoint

presentation.

OR

(a) Explain the use of PV, FV, AND PMT function
with the help of suitable examples.

(b) Write the syntax of the following functions with
the help of suitable example :

(1) VAR
(i) CORREL (10x2)
5. (a) What are the two main integrity rules in databases?

Provide examples to illustrate how these rules help

maintain consistent database states.
(b) Define relationship and its various types.

OR
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(a) What is a Database Management System
(DBMS)? Discuss its significance compared to
traditional file-based systems.

(b) Explain the following with an example:

(i) Network database model
(i1) Object oriented database model
| (10x2)

Give the results of the following functions :

(a) =MEAN(12,8)

(b) =ROUND(-12.568,1)

(c) =MODE(12,,6,3,3,4,8)

(d) =RoundUp(12.567,2)

(¢) =Max(12, Min(18,24)) (2x5)

¥ (T) 3R s@= (F) w1 @a fw wror @@

(%) @redfe ¥ COUNTIF ®ae & I9@N 37 Cell &t
& A WH T & e R W @ W faftee
dEmd B aN W ek A R

(@) T v € A FIND HH8 &l ITaN shaw fafinee 2o
F @ & foe e @ &

Y ORA N | j < .‘ i) | 1 71 P.T.O.

|\.,‘

. TNTaY 7\ - ;
/A ARSI ER - 1 1D A .
ANALHINLDT UUL LUl L SU{»\JL\(—QY
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(W) CTRL+R wafa 3HE W Jfeiae & & w2
fag haé wicEe B

(W) s v U dHa )

(¥) umwiEe YoRTA X TES W & fow wawr AR Fs
& Iwam R W #) | (5%2)

2. (%) Oftow 3R ARfied TR F 9 FR F@Q? AT
FRw & WWE TR ¥ 9 D4 AN @ 2

(@) T Ve A G HY aFeE T E7 FTEA A
e, EE SR g Qe & RieeE W )

q01

(@) wmm ¥ Fge # R s ) Rer @ o=
i

(@) ¥ Wik w37 A0 wHRT & e ¥ B W
T R TR @ ARl @ T TR /R I
U FifT) (10%2)

3 (%) fowee Yeww Rew A RS yar @ il @
e i

"//'\l It
f Nia¥
VALIND (O

-’
~

~— '& L-lL -\- ‘ »/



510A g

(@) Brefe 3 ey o e @ O A A
W ok T wE @ A Fa B H R I

e afom)
a1

() & ¥ 2o geec @ 37 R SR P W

Real ® = Hifwl
(|) mmﬁmm?mmm
¥ oy B 2t (10x2) -

s (%) Sefc ¥ A ad @ gwdm @ a e B
&7 e &l wd I I T Aol

(‘a)qﬁﬁ?ﬁ%ﬁw?fwm,ﬁmwsﬂt
Acq ART D AT FR WL Do

() S SeECH R wEE ¥ 0, R AR fedt
FFE @ ST A ST

(ﬁ)'mma&m%ﬁmﬁﬁﬁmmm

fedeq fore :

(i) deIAR

(i) A (10x2)
P I AR T DU <[ P.T.O.

e EOE | IBRAR
KALH\';:H cotLtbt le‘m\f\\{
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S (%) 1eRw X A @ e P w7 37 9 Ty @ e
SEE WA e & A P gEma Jenw fafy
T @ A DA wEE Q@ B

(@) Rowmfm sk Sos RReT wwR @ aRrfa AR

q1

(F) JT@E weEuw womeh (ﬁm)w%?qﬁm
g - mmﬁwﬁmwﬁww
)

(|) Feioies =t v Semmr sk @ AR
(i) Fcas Yerw wew | |
(i) Jere ARGT Jeww wiew (10%2)

6. Ffoias =@t & wRum i - (2x5)
(a) =MEAN(12,8)
(b) =ROUND(-12.568,1)
(c) =MODE(12,,6,3,3,4,8)
(d) =RoundUp(12.567,2)

(e) =Max(12, Min(18,24))

ERALME

- Lt AL IEND L\L ‘\[‘-\\'\") (3000)
Al v"“\:‘,..;.. Lo
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L W y- @ e & sw e 7w FulRs @@ w0 s
Fwa fofw |

2. Aty AW

3 WE R WAl A vw 9 AR |

4. VT YW @ A HE Al B |

5. WIURW Sidgdcy IWERT i i 2 )

6. TR AforIY SR Ih AT W ITART G TG |

7. THUE-TF 6 IR Fon a1 B el v s A Afvre, A
T I H A TF B R |

1. (a) A manufacturer is engaged in the production of
three products A, B and C, which are sold in
three different markets I, II and III. The annual

sales (in units) of these products in these markets
are tabulated below :

Annual Sales (units)
Products
Markets A B B
I 12,000 5,000 10,000
I1 8,000 17.000, 6,000
I11 5,000 22,000 9,000
,/"’,/'\ij_.,'lr‘:/f Al M~
CWMUVLLEC O

12y »e
11T A -
"4 . Y/ \7
=gy ‘»"‘nfﬁ




3

You are required to calculate :

(i) The total revenue from each market, if

these products are sold at 45, 225 and
X35 respectively.

(1) The gross profit from each market, if the
cost of producing these products is %36,
%19 and %27 respectively. (6)

OR

(b) Gambhir Fan Ltd. manufactures three models of
ceiling fans. The material, labour and finishing
costs for manufacturing a fan are given in the
table below :

Cost @)
Model . . s
Material | Labour Finishing
A 200 500 100
B 100 200 300
C 300 200 300

In a particular week, an amount of X1,80.000,
Z140,000 and %1,20,000 is used for labour, finishing
and materials respectively. How many of each
model of ceiling fan should be Produced to yse
exactly each of these allocations? (6)

- OE ) IRRARY P.T.O.
« 1L rr\,/ jl 1 v’"i'ﬂ’ i l < r_:“({\-
\/!ﬂi ',;‘.,' .\t Aol et
A AL



516 4

(c) Two companies A and B are holding shares jp
each other. A is holding 20% shares of B and B
is holding 10% shares of A. If the separately

earned profits of the two companies are 298,000
and ¥49,000 respectively, find out the total profits

of each company using matrices.

Also show that the total of profits allocated to
outside shareholders is equal to the total of
separately earned profits. (6)

OR

(d) A two-industry input-ouiput relationships are given

below : '
Industry Consumption Final Demand
I II
I 16 20 4
1 8 40 32
Labour (days) 80 120

Using matrix notations, determine :

(i) Gross output required to satisfy the new
final demands of 18 units and 44 units for

industry I and II respectively.

Y " - = oy

FE } e .38

1.4 R 1
/

Y \L.,: ‘\ ;_)‘; k\'] Yt

.;v»“- .‘.—'\"‘»\. A .\'.‘
Lolsi LIBrRARY
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(1) Total labour days required.

(iii) Equilibrium prices if the wage rate is t40

per labour day. (6)

2. (a) The marginal cost function of a product is MC(X)
=2X + 5. Find the corresponding total and average

cost functions when total cost of 5 units is Z86.
Also find the level of output where per unit cost

is minimum and the minimized cost. (6)

OR

(b) At time n = 0, the annual world use of oil was 120
“trillion of barrels. The annual consumption of oil is
increasing at the rate of 1% continuously.

Assuming the rate remain the same in future:

(i) How many trillions of barrels will be

consumed in the next 10 years from n = 0?

(i) How long will it take to consume all the
available oil if the world reserves are of
1,08,000 trillion of barrels in the beginning
(assume that no new exploration is

available)? . (6)

i(,'., ) J X
— et ST A DN

| | LW Y \I"‘

A LA

et NN
/ \ 1 { "“: T ‘\_..' 1..~l—v‘ e Vot b Soe
'f’af‘\L.“‘&L“ e P.T.O.
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(c) A firm produces two items X, and X . T,
market prices are given by: p, = 100 - 2x, anqg
Py = 125 — 3x,. The cost of production is
12x, + 11x, + 4x,x,, for producing x, and x, units,
How many units of each item should be produceq
to have maximum joint profit? Find the optima]
prices that monopolist charges to maximize profit.
Determine the revenue, cost and profit for the
optimal level of prices and quantities for the two

items. (6)

OR

(d) The joint demand functions of two products are
x, = 2p,%® p,%® and x, = 3p,°7 p,™*5, where x,
and x, are the units demanded of the two products

when their prices are Zp, and ITp, per unit

respectively. Determine :
(i) Four price elasticities.

(ii) Percentage change in the quantity
demanded of both products when:

(a) p, increases by 2% from the existing

level.

(b) p, decreases by 2% from the existing

;1 (6)
¢ LIBRARY

AN | ’«_3;

level.
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(e) A Monopolist discriminates prices between two
Markets and the average revenue function for the
tWo markets are AR, =53 - 4Q, and AR, = 29
—3Q, and his total cost function is C = 20 + 5Q.
Find the profit maximising outputs and prices in
the two markets. (6)

OR

() A manufacturer’s production is given by the
function f(x, y) = 100x34y!, where x represents
the units of labour and y represents the units of
capital. Each labour unit costs 150 and cach capital
unit costs 250. The total ¢xpenses for labour and

capital cannot exceed 50,000. Find the maximum

production level. (6)

3. (a) A monopolist has the demand function p = 7.2
0.2x and cost function C = 15 — 45 4 1.2x2. If a

tax of t per unit is imposed, find the output and

price that correspond to the maximum profit.

Also, determine the tax rate that Maximizes the

(6)

tax revenue.

|

OR"

p— - i :,,‘.‘. -\) A rw“-,”‘ 7
o a -\‘ ". ' ‘ - :' i .'d t‘ -.\ l’"\ B
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(b) A factory follows an economic order quantity
system for maintaining stocks of one of it

component requirements. The annual demand is
24.000 units, the cost of placing order 1s X300, and

the component cost is T60 per unit. The factory
has imputed 24% as the inventory carrying rate.

Determine :
(i) Economic Order Quantity using Calculus.
(1) Total cost.

(i) Optimal interval for placing orders,

assuming a year is equivalent to 360 days.

(6)

(c) The supply of a product is x=a\/pr where p
and x are the price and quantity, a and b are
arbitrary constants. Find restrictions on a and b, if
any. Also, find price elasticity of supply in terms

of p and show that it decreases with increase in

price and it is unity at p = 2b. (6)
OR
WAL 51 ~ . |
,v,\. ,: iy 16 oo : ‘__ [ . i 3Ny A Py
CUNUL iU LE VR LD KAK Y

N
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(d) Using calculus show that total cost function
TC(x) = a(x-5)* + b is an increasing function
and changes from concavity to convexity with a

point of inflexion. (6)

4. Attempt any three : (3%5)

(a) At three-month intervals, Mr. Sharma deposited
<1000 in a savings account whicﬁ credits interest
at 12% per annum compounded quarterly. The first
deposit was made when his daughter was born
and the last deposit was made when his daughter
turned 12 years-old. The money remained in the
account, compounded quarterly and was presented
to the daughter on her 15" birthday. How much

did she receive?

(b) A delivery vehicle costing 500,000 will depreciate

to a scrap value of ¥50,000 in 5 years. Compute
the book value of the vehicle at the end of third

year if :

(i) reducing balance method of depreciation is

used.

(ii) straight-line method of depreciation is used.
Cticide et

. i' ‘. ".‘ ‘ '-;"‘l 'r" ) L
1

g gy ,-, ol Y :q‘f“-D QY
o KD COLLEGE LIBRARY P.T.O.
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(¢) The sums of 25.000, 28,000 and 212,000 are dye
at the end of 2, 5, and 9 years respectively. If the
rate of interest is 9% per annum effective, find
the year at the end of which a payment of 225,044

may be made to settle all the dues.

(d) Harshdeep purchased a house for ¥50,00,000 and
has arranged 80% loan from a bank for this
purpose at 12% p.a. He proposes to repay the
loan in 12 years by quarterly compounded

instalment. Calculate :
(1) the amount of instalment.

(i) total interest paid during the first three

years.

(e) How much money should Mrs. Roy deposit with
the bank so that she receives ¥35,000 after 3 years

and another Z45,000 after 5 from the date of
deposit, if the rate of interest if 10% p.a.

5. (a) Two material A and B are required to construct
tables and book cases. For one table 12 units of
A and 16 units of B are needed while for a book
case, 16 units of A and 8 units of B are required.

The profit on a book case is 25 and ¥20 on a
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table. 100 units of material A and 80 units of
B are available. How many book cases and table
be produced to have maximum profit? Formulate
the above as a linear programming prqblem and

solve.

(12)

OR

(b) A firm produces three products A, B, C using

three resources (material, machine hours and

labour hours). The manager of the firm wants to

find out the best productioh strategy. By using

Simplex technique, the following solution was

obtained.

C— 2 10 8 0 0 0 Quantity
BV X1 X2 Xs Si S: Ss (D)
X2 3/5 1 2/5 1/5 0 0 120
S: 8/5 0 12/5 - 4/5 1 0 240
S,  -2/5 0 17/5 -45 0 1 320

(i) Do you agree that this is the best

production strategy? If not, improve the

solution to get the best production strategy

and indicate how much quantity of each

product should be produced?

P.T.O.
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(i) Are all the three products produced? [f
not, why?

(iif) Are all the three resources completely
used? If not, how much of which resource
is unused?

(iv) Can there be an alternative product mix

which gives the same total contribution?

(v) What is the marginal worth of the
resources?

(vi) What happens if 34 labour hours are lost
due to some mechanical problem?  (12)

(c) Write dual of the following LPP :
Maximize Z = 5x, + 9%, + 11x; + 71X,
Subject to constraints :

x, + 5%, T 14x, £ 25
2X, — X, + 2%y 2 54
5x, + 3x, + 2%, T 3Xe = 60

unrestricted
Xy X33 X4 2 0 and X ©

&
% o o k. SO Y S T S 13
fj}‘i;,gfr‘. 'A“' X \ | . 1 ..- ; ; | fx]

Gl T iy
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OR

(d) An electronics company produces three types of
spare parts for gym machines. The company buys
castings of the spare parts from a local foundry
and then finishes the spare part on drilling, shaping

and polishing machines. The selling prices of parts

A, B, and C respectively are 2160, ¥200 and ¥280.

Castings for parts A, B and C respectively cost

2100, 2120 and %200. The shop possesses only
oneof each type of machine. Cost per hour to run

each of the three machines is X400 for drilling,

2600 for shaping and 600 for polishing. The
capacities in terms of parts per hour for each part

processed on each machine are shown in the

following table :

T ’ Capacity (per hour)

Machine A 3 C

Shaping “___'_'___2.:",-.“-.-."-“ . I S

Polishing LA B B T
...

-

2 ,,-
(} l(l

/\AL!‘\IU - 'i LL_(JL lIBRAR BT,
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The management of the company wants to know
how many parts of each type it should produce
per hour in order to maximize profit for one hour
run of the machines. Formulate this problem as a
Linear Programming Prgblem. DO NOT SOLVE

IT. \ (6)

(%) v Feia @ ISR A, B 3R C &1 Iwe R @
2, W T F - F R L I AR IO ¥ o
2 H TR A I IR s R (el X)
I qRieg R :

e fae! G@sa
Jdiq
TSR A B B
I 12,000 5,000 10,000
Il 8,000 17,000 6,000
)| 5,000 22,000 9,000
AT T R

(i) ¥R R ¥ g T, AT I @)

FAN. 245, W5 IR a5 W 4N T By
RTard

I Tontn o R SNSRI S USSR S—— - v ', KT
Bl a7 TRifdvireyd e

KALIND! COLLEGE L.bR#\*
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(i) ¥ @R ¥ ¥FA oW, R’ 34 IAR D
IqRT N AR FAX 236, U9 AR 27 B

(6)
ar

(@ TR B fafiee @fa @ 3 & diee Tt 81 9Q
3 i & o amEl, sw 3k aReswr are fAefed
et A & T 2

drTd ()

200 500 100
100 200 300
300 200 300

f&h fagw aaE «, sw, qiswwr Ik wEh @ fw
FAA: 21,80,000, 340,000 3R 21,20,000 F RN
I f S 3 T A TWRE e W e
Igan & @ g @fen O @ wQdw view &
e forar s wfee? (6)

”~ ' | '~v
. \ )
: \ N O \ R PIBY R A
FARRYAS Al oday PTO
) R .
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() & wufaf A IR B vEw T B daems H A B
e B ® 20% W ¥ I B R UM AR 0% Ww
21 aR A FuRA w1 - I A W FHw
298,000 3R 249,000 B N INRIW =1 IT@T T
TRE S F [ A TG R

7® o RaEw fF Bl g f FERe am &
HA AW, FAT ¥ ARG AN H WK ) (6)

q1

(a) fB-SaW e - F¥eqe wWy A Ry ww ¥

gud
I 3ifaw |
I n
| I 16 20 4
ET I 8 40 32
- o (feaw) 80 120

J ‘. | l “l'( i ) " P
ALINUTCOLLEGE LIBRARY
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(i) e 1 3R 11 D R Fom: 18 F6EA AN 44
e @ R o ® @ wa 3 o

JTEF qEHA Ieqre|
(ii) smawas FHoa W e«

(iii) ¥ge= S, afe Aogh W 40 Wi sw Rew
2 (6)

2. (F) 5 S @1 i @R we MC(X) = 2X + 5
31 W 5 TR W e A 86 ¥ W R e
AR ST AR HorT W G| HSCGE T T8 R

W T A o I T e AR e
A 2B (6)

Q0

(@) Wn=0‘1'{,‘a’amﬂﬁﬂ?ﬁwaqﬁnuom
& Al AT A AqME W TR 1% W R A ©
@ 21 9% A q¢ R WRS X www an

,_3,:"3-."“""}"‘ ‘\i‘-i.““'\\"‘\'\(‘

. WS EIPIA A\
] "J( "’4 ‘(“5. " ".. \ ‘"

1\
" HU B! \JUW/
-I_H\\ l \:‘/‘I - \
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(i) L0 A a0 an A e Rt A A
@ud B 7

(ii) aR s ¥ fga wiIw 1,08,000 Rfomw &@ =
? (m@ﬁq%aﬁima%maﬁgm%)
R wt I AW W IR wA A R
w e | (6)

(1) v w A T X, 3 X, Rfffs et 31 TOW FE
= w@R & T ¥ p, = 100 - 2x, M p, =125 -
3x,1 x, W x, TREA D IO F R IAA
AR 12x, + 11x, + 4x,x, B1 ST WY q™

aﬁmnﬁa@aﬁ%ﬁ?aﬁﬁaﬁtm%mw
3 T, W AR A Fuiia e (6)

1/ B LS r
AV I ™
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(‘T) A IR B Hﬂ'ﬂﬂ I Bl X, = 2p, 0.6 pz().ﬂ m
X, =3p, 7 p, 0 B, W x, gt x, A Iewd A AT
® T T ¥ T I e g 2p, W 2p,
W afe 31 PR i

(i) =R qea weawerm
(i) 2 IeareY & i & W A wiwe TR o ;
(%) p, AET ®R A 2% s W 2
(@) p, W@ &R ¥ 2% FA B T2
(6)

(¥) T v A AR H A e ¥ FR e

2 3R I TN B e T ToE wEE AR, =

53 — 4Q, 3 AR, =29 - 3Q, ¥ 3R Iuw &A@
AME HFA C = 20 + 5Q 2 M TR ¥ W
FfEaq & a9 ASCYE IR PR T e
(6)

P.T.O.
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() v Pl & I|mEE f(x, y) = 100x¥4y!4 we g/
far W 2, W x s At A SRy Lo A
sETEd ) qui B v AW TR @ o 150 AN
T GOt TS A G 250 31 5 AR Lo A AA
= 50,000 § FOE A& B Wehall AferhaH e
W A I (6)

3, (E)WWWWWp=7.2—O.2XSﬂT
S WA C = 15 — 4x + 1.2x ?1 AR Wi T
{ @ X T O 2, W e aN R AT
IERA AN A TG Hifore|

mﬁ,ﬁmaﬁﬁiﬁaaﬁﬁq@rmmaﬁ
e (6)

it

(|) meaﬁmmmﬁﬁ%w%%ﬁm
A T @Y & e v e R WAl WU &
e R 31 A W 24,000 gRC ¥, AR I A

—t> Yy Y 1 11 \ 1 k
9K 1 Hieh il

- . it AL e | INODARY
/ N 1 I (. (o | AT M A
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S 2300 B 3R WCH AW 260 WA gT B1 DA
T IR X R W A 249 o 21 P
FRw

(i) Feme® & Jwdm gmr sl R AN
(i) == AWl

(iii) 3 A & fow Teaw siawel, a8 999 §Q &
T 9§ 360 RA B s R (6)

(1) @ e & afd x=ap-b B W p I x

Fd AR A E, a AN b W Remw ¥ a3k

b W &, AR HE A, T UM W R T,

p & W A AT &t FvE & & v WY IR

feaw & a8 dva A afe @ W wed ? sk O

p=2b W T&E 2 (6)
712". (vl

- =AM/
oot COLLEGE LIBRARY
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(W) AT W 3G wewy gy % wA AE e
TC(X) = a(x — 5)' + b vw gfgfa waa 2 A o
A & G B W9 g A e 4 afeafdE P
2l (6)

s el @ T W e B (375)

(F) O T & AT W, off W T aww @3 ¥ 21060
v g, e TRE wwafe 129% wR ad & =
q I TN B 2) YRRl ST @9 & WS o IS
9 W T T IR AR T owe B @
WE I 9 12 9§ @ R W) Y @m X
Rt ST ™ T @ A R o 3
Ig 159 Tl W We fn am R R af e
g7

(@) 500,000 it amTH T vE Refd TET B WY T
5 T ¥ 250,000 B T AW A D FI ¥ AE
F T A A e AR
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23

(i)wﬁmmmwmwm
frar s 2

(ii) Ter 6 QR - Ry o Iwdw B T
2

35,000, 38,000 3R 212,000 =} TR T 2,5 3K
o9 a%r?f%aﬁvhluﬁmat9%uﬁaﬁm

%,ﬁraaaﬁmwm%m#wmnﬁr

YA T F g 225,044 &1 W R o
T )

BYET ¥ %50,00,000 ¥ T R W 3k @ siw @
o v dw ¥ 2% R af B ww 80% v foram
ﬁ%%w&;ﬁmmuﬂﬁwwm
H TEE @B MO DR

(i) frea = ufar

ORI L S ——

| C et e

'\
= ‘:')\‘(
2 ".“i')'l\ lo"‘i“"‘ '
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(¥) Mﬁuaﬁﬂ'ﬂ:?fﬁ;ﬂﬂmmmw
qMH 37 3 W @ 235,000 IR R Ry s

T W@ W 245,000 WA A, qAR WA T 10% I

T 2

5. (%) aw 3N 7% 9 T B fow X weA A IR B R
HAEEHAT BN 21 U odt D fog A & 12 FrEar
aﬂzBaﬁmw@ﬁfaﬁaﬁmﬁ%ﬂé,mﬁw
qh ¥ & fow A 2 16 TH=A AR B N 8 A
N FEEFA B 2N TEH Th D W AN 225 I
U& 2q@ W 220 21 °EAN 4 100 IHIEE AR B
&t 80 IRl Iuel ¥ HAFAH W WA FA B
o fhe g% &9 IR a9 & IARA fFAr W
qMRY? IRET N T Waw W TN D T A
dar Fife sk g Ffowe (12)
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(@) v WA A AR (Wl ey w2 g A Ae)
ST W A IR A B I 2
T H YU WA geqe iy @1 T S
TR R Rea qae @ guan w@ Aefad

fAed wra fvar
G— 2 10 8 0 0 0 Quantity
BV X, X X3 Si Sz Ss (b))
X, 3/5 1 2/5 1/5 0 0 120
S, 8/5 0 12/5  —4/5 1 0 240
S -2/5 0 17/5 - 4/5 0 1 320

(i) = @ &9a ¢ T a8 w&iew ST WAl
27 af 7, A ade I TR W
& fog T § gUR W AR TN & wQ@w
IdE @ fEe WA @ Iwew B W
g ?

(ii) T A I IR 87 AR @ A

{7 /-1 AN AN VY A YN
.}\‘! .‘.'“’,‘ b/ 1 /. ‘\..f.;‘. -’ e !2(/‘! "’!}‘\'\'{r
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(iii) ¥ N Y @ qof SwAE @ g 27 AR
T, A Fw qEmm @ A T swgE 27

(iv) = ¥ I=fgs 3o Ay & 99 & N =
FA ARH J}qT A7

(v) wamg=t =1 S gea @ 27
(vi) afR & afaes s @ &R 34 5w 6 W& ie
B R A o oEhn? (12)
(W) Feafafes @@ ¥ 3 2 faa

Ffwaw Z = Sx, + 9x, + 1lx; + 7x,
yfaasl &

x, + 5x, + 14x, < 25

2x, — X, + 2x, = 54

5x, + 3x, + 2x, + 3%, = 60

X, X3, X, 2 0 and x,: Fferater
(6)
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a1

(7) vE saecinad 0N M A @ fw @ v @
AR qEE & IART T B HmEN W wES 4
WA qEE A FRET @t ? 3R O A i &
Rfdn, AT AR dRT WA W R w@ RA,
B, R C wm &1 fawa ¥e@ wam: 2160, 2200 AR
3280 31 ¢ A, B, A C & fog =iRew & v
W 2100, 320 AR 2200 2 Wﬁm'm‘
N had UE w9 21 A A A ¥ v @ ae e
it ufy ue @we Rfvwm & fow 2400, IR T @
fow 2600 IR wifafw & fow 2600 21 YRA® WA
R {ERE TAE ¢ & fow wiw we aid & wed A
g ffoiaa aifore ¥ RaErg @€ €

| grmar (wfdder)

AH A B p
fé;ﬁ‘m 25 40 25
Skl 25 20 20
hﬂ‘?ﬁm 40 30 40
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3 Ay IAFTHE

4.  TE WS- TF H I AN a1 B e v vy 3 Afore, Al
W ITR T AN U B BT ARy |

1. (a) “Entry into International Business is an incremental
process in which a firm gradually increases its
foreign market presence.” Do you agree? Explain

giving reasons. (8)

(b) “A global business firm operates in an environment
which is complex and multidimensional.” Explain
the statement with relevant contemporary

examples. (7)
OR

(a) Discuss the Contractual Entry Modes used by

firms to enter International Business. (8)

(b) Comment on the trends in India’s foreign trade in

the last decade. (7)

2. (a) What is the balance of payments account? What

are its different components? (8)

7 A 1 “ 1 -t
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(b) Briefly explain the Factory Proportion Theory and

Leontief Paradox of International trade. (7)

OR

(a) Distinguish between the effects of Tariff and Non-

Tariff barriers on trade between nations. (8)

(b) Explain Porter’s theory of National Competitive

Advantage as a theory of international trade.

(7)

(a) Discuss the basic principles and functions of the

World Bank as a regulator of global development

finance. 8) -
(b) Write a short note on NAFTA. | (7)
OR

(a) Explain the role of WTO as a regulator of world
trade. - (8)

(b) “The Customs Union, Common market. Economic
Union are various stages in the growth of regional

economic integration” Briefly explain. )

e EIGAn
s 3T Hhiltlawist 3
—'/"\\(fl-\An | . .
o W CAE | IRRARY
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4.

4

(a) What is outsourcing? Discuss the importance of

outsourcing in the context of the Indian economy.

(8)

(b) What is Spot Market and trading in Spot Market?
Briefly explain the spot rate quotations -and bid-

ask spreads. (7)
OR

(a) Define exchange rate determination and type
of exchange rates. What are the major factors
which affect the e.xchange rates relative inflation

rates? ' (8)
(b) Briefly explain the foreign exchange risk and

exposure. . (7)

Write short note on any three of the following :
(3x35)

(a) FDI
(b) World Bank

(c) IMF
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(d) Strategic Alliances

() SAARC

b (W) SO e ¥ e v gfedien sha @ R o

TR - 9R Mﬁ%ﬁwmm§'”w
Y e ¥ HR @R qC WE HT (8)
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1.

(a)

(b)

(a)

2
X Ltd decides to redeem 13,000, 15% Red. Pref. shares of Rs. 100 each
at a premium of 10%. It has General Reserve of Rs. 9,20,000, Profit &
Loss balance of Rs. 6,30,000, Securities Premium of Rs. 2,25,000, Bank
Balance of Rs. 6,30,000 and Investments (Face Value Rs. 10,00,000) of
Rs. 18,00,000. 40% of the investments are sold at 150% of Face Value.
The company decides to issue 15% Debentures of Rs. 88,000 at Par and
100, 12% Pref. Shares of Rs. 100 each at a premium of 20% for the
purpose of redemption of Pref. shares. Calculate minimum number of equity
shares of Rs. 10 each to be issued at 25% premium to meet the requirements
of the companies Act, 2013 if the company wants to maintain a balance of

Rs. 5,00,000 in its Bank account and same balance in its Profit & Loss

account. (8)

Sun Ltd issued a prospectus inviting applications for 40,000 shares which
were underwritten by X, Y and Z as 60%, 25% and 15%. The underwriters
X, Y and Z made application for 3,200; 1,200; and 4,000 shares respectively.
Other applications totalled for 20,000 shares including marked applications.
Marked applications of X, Y and Z were for 4,000; 8,000 and 2,000 shares
respectively. Ascertain the liability of the underwriters and net amount of
underwriting commission payable to them assuming benefit of firm underwriting

is given to individual underwriters. ()
OR

ABC Ltd plans to buy-back a part of its equity shares @ Rs. 12.50 per
share. From the following information, calculate the maximum number of
shares that it can buy back as per the provisions of The Companies Act,

2013.
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(b)

(2)

Equity Share Capital (Rs. 10)

10% Pref. Share Capital (Rs. 100)
Securities Premium

Capital Redemption Reserve
General Reserve

Surplus

12% Debentures

Secured Loan

Unsecured Loan

Current Liability

Rs.
80,00,000
20,00,000
24,00,000
12,00,000
22,00,000

6,00,000
1,40,00,000
1,00,00,000

32,00,000

8,00,000

(6)

Pratibha Ltd gave notice to its debenture holders of its intentions to redeem
its outstanding Rs. 5,00,000 10% Debentures at 102%. The debenture holders

are given the option to subscribe for

(i) 5% cum-preference shares of Rs. 20 at Rs. 22.50 er share or
p .

(i) 6% debentures of Rs. 100 at Rs. 96 or

(iii) To have their holdings redeemed for cash

Holders of Rs. 1,71,000 debenture stock accepted the proposal (). Holders
of Rs. 1,44,000 debenture stock accepted the proposal (b). Remaining

debenture holders were paid cash.

Pass the journal entries to record the above transactions.

)

You are provided with the following particulars of Ambika Ltd. Calculate
cash flow from financing activities to be disclosed in the cash flow

statement as per AS-3.

0 LM B TR T

TR LN Are I I
KALINDI Glilie

IRR
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4
m 3103203 | 393202
Equity share capital (Rs. 10 each) 10,535,000 600,000
3% Preference share capital ( Rs. 100 each) 200000 | 400,000
| General reserve 140000 | 440000
Demiata ,
Securities premium 52500 20.000
Wption reserve £ 1.50.000
Non-current liabilities (12% debentures) 2.75.000 1.50.000
Current liabilities:
Outstanding interest on debentures 10,000 -
Outstanding underwriting commission 3,000 -
Unclaimed dividend on equity shares 20,000 -
Non-current assets (Machinery) 30.000 ; -

Additional information :

(1) On 1* April, 2022, dividends (including an equity dividend @35%)

were paid.

(i) On 1* May, 2022, 20,000 equity shares of Rs. 10 each were issued

to public @ Rs. 15 to redeem Preference shares at 3% premium.

(iii) On 1* Oct., 2022, 1,000 Preference shares of Rs. 100 each were
issued to public @ Rs. 150, ¢ buy back 15,000 equity shares @
Rs. 15. On the same date, 50% of debentures were redeemed at 10%
premium, by converting in equity shares of Rs. 10 each @ Rs. 15 each

and some new debentures of Rs 100 each were issued to public.

ALY
i
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(iv) Underwriters were entitled to commission on all public issues of

securities at maximum rate as per the companies Act, 2013.

(v) On 31* March, 2023, a Machinery costing Rs. 30,000 was purchased

by issue of equity shares of Rs. 10 each at a premium of 20%.

(12)

(b) Aashika Ltd. provides you the following information :

Equity shares of Rs. 10 each ‘ Rs. 100 lakh

8% Preference shares of Rs. 100 each, fullypaidup Rs. 20 lakh

General Reserve Rs. 30 lakh

Revaluation Reserve Rs. 5 lakh

Loss for the year ending: 31.3.2022 Rs. 2 lakh, 31.3.2023 Rs. 1 lakh

Rates of Equity dividend : 0% in 2019-2020, 16% in 2020-2021, 17% in 2021-2022,

The company desires to declare dividend @ 10% for the year 2022-2023.
Comment upon the management’s decision. Also pass necessary journal

entries for dividend assuming that Rs 1 lakh of dividend 1s not claimed within

the given time as per company Law. 9
(c) Distinguish between Basic and adjusted EPS. (3)
OR

The following balances appeared in the books of Meera Ltd. as on 31* March,

2023 :

PT.O.
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Debit Balances Rs. | Credit Balances Rs.
Buildings at cost 1,50,000 | Equity share capital 6,00,000
Purchases 5,00,900 | (Fully paid shares of Rs. 10 each)
Salaries and wages 3,59,000 | General Reserve 2,50,000
Repairs to building 26,810 | Unclaimed dividend 6,520
Miscellaneous cmes 31,090 | Trade payables 36,880
Machinery at cost 2,00,000 | Sales : 10,83,940
Motor vehicles at cost 30,000 | Provision for depreciation 71,000
Furniture at cost 5,000 | Interest on Investments 8,540
Opening stock-in-trade 1,72,050 f:ﬁg‘sss i(';_t;os;‘)'emm of profit 16,840
Trade receivables 2,23,380 | Staff providenf fund 37,500
Investments (long-term) 2,88 950
Advance payment of tax. 50,000
Cash balance 72,240 |
Director’s fees 1,800

21,11,220 21,11,220
ol 2

From these balances and the following information, prepare the company’s balance
sheet as on 31* March, 2023 and jts Statement of profit and loss account for the
year ended on that date :

(a)
(b)

(c)
(d)

(e)

®

Stock-in-trade on 31* March, 2023 was valued at Rs. 1,48,680.

Provide Rs. 10,000 for depreciation op fixed assets, Rs. 1,800 for directors’
fees and Rs. 6,200 for the COmpany’s contribution to staff provident fund.

Interest accrued on investments amounted to Rs. 2,750.

A provision of Rs. 50,000 for taxes in respect of the profit for 2022-2023
is considered necessary.

The board of directors PTopose a final dividend @ 8% and transfer to
General Reserve Rs. 30,000 after the balance sheet date.

A claim of Rs. 2,500 for workmen’g Compensation is being disputed by the
company.
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(8) Authorised capitai is 80,000 equity shares of Rs. 10 each. The company had

issued 60,000 shares of Rs. 10 each. (24)
3. (a) The following information is available of Omega Ltd. 9)
12% Debt capital Rs. 800 crores
Equity Capital Rs. 250 crores
Reserves and Surplus Rs. 50 crores
15% Preference Share Capital Rs. 100 crores

Additionally, the following information is provided :

Beta factor : 1.5
Market rate of return 15.5%
Operating profit after tax Rs. 225 crores
Tax rate ' 25%
Risk free rate of return ' 6.5%

Calculate Economic Value Added.

(b) From the following information, calculate value per share

Particulars Rs. Rs.
Equity Share Capital of Rs. 10 each fully called 4,00,000

Less calls in arrears @ Rs. 2 (2000) 3,98,007
Equity Share Capital of Rs. 10 each Rs. 8 called 80,000
12% Cum. Pref. Share Capital of Rs 100, fully called 1,00,000 )
Less Calls in Arrear @ Rs. 30 6,000 94,000
Reserve and Surplus 3,0(%
Short term loans l,m

10% Debentures (50% Debentures to be redeemed before

valuation of shares) 1,00,000

Goodwill 190,000 |

3,00,000

1,20,000
Current Assets

5,62,0
02000

Property, Plant and Equipment

10% Investments (Face Value Rs, 1,00,000)

],:/Z";I.jlp\':iJ‘v X :i. ',' s AV RTO
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Additional Information :

(1) Goodwill s valued at 1,90,000 and Property, Plant and Equipment are
found to be undervalued by 1,30,000. Of the investments 20% are ‘
trade investments and remaining are non-trade investments. Trade
investments are valued at 10% below cost and non-trade are valued

at 25% above face value.

(i) Disputed bonus claim not provided for in the books is settled at
Rs. 19,000.

(1ii) Debtors include Rs. 20,000 of debt due from Mr X who has been

declared ihsolvent and can pay only 50%.

Calculate intrinsic value of equity shares assuming preference dividend is in

arrears for the last 3 years. 9
OR

(a) From the following information about Moon Ltd on 31* March 2023, calculate
Goodwill on the basis of three years purchase of average profits of last four

years.

(i) Profits of last four years before tax were Year 2019-20 Profit
Rs. 13,50,000; Year 2020-21 Profit Rs. 13,50,000; Year 2021-22
Profit Rs. 18,00,000; Year 2022-23 Profit Rs. 22,50.000

(i) The books of the company showed 109 Investment (Face Valye

Rs. 8,00,000) at Rs. 10,00,000 on 31+ March 2023. Of these, 20%
investments are trade and Témaining non-

were purchased on 1* Qctoper 2022,

trade. Non trading investments

(iii) A machine purchased on | April 2021 for Rs. 2,00,000 was wrongly

debited to purchase account. This needs to be rectified. Compan
charges depreciation @ 10 WDV method 4



3861

(iv) Closing inventories are found to be undervalued by Rs. 1,00,000 in
2020-21; overvalued by Rs. 60,000 in 2021-22 and undervalued by

Rs. 80,000 in 2022-23.

(v) With effect from 1* April 2023, there will be an increase in manager’s

remuneration of Rs. 1,00,000. Rate of tax will be 25%. The company

is going to start work from home policy for its employees for thrice a

9

week resulting in saving in cost by Rs. 75,000.

(b) Vaibhav Ltd. gives the following estimate of profit of an enterprise :

Year I 1 III v A\
Total profit of an enterprise (Rs. In lakhs) | 4000 | 6000 | 6000 8000 | 4000
Total profit of an enterprise without the
brand (Rs. In Lakhs) 1000 | 2000 | 3000.| 4000 | 1000
Useful life of brand = 5 years
Weighted Average Capital Cost = 15%
, Year I I m v \%
PVF @ 15% 0.870 0.756 0.658 0.572 0.497

Required: Determine the value of brand under discounted super profit

model.

4.

1 <A

-y A \\‘i
t y 4
! | = B N

The balance sheet of R Ltd. as at 31* March, 2023 is as follows :

PToO.
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Particil;ari//jme no. Rs.
I | EQUITY AND LIABILITIES
(1) Shareholders’ funds
(a) Share capital 1 G, 02N
(b) Reserves and surplus 2 2,82,000
(2) Current liabilities
(a) Trade payables 3 1,33,000
(b) Short-term provision 4 1,10,000
Total 11,25,000
I | ASSETS
(1) Non-current Assets
Property, plant and Equipment 5 4,87,800
(2) Current Assets |
(a) Inventories (Stock) 3,87,400
(b) Trade Receivables 6 91,000
(c) Cash and Cash equivalents ' '7 1,58,800
Total 11,25,000
Notes to Accounts
| Particulars . R
TﬁShare capital
60,000 Equity shares of Rs. 100 each 6.00,000
2. | Reserves and Surplus ’ —
Pre-incorporation profit 21,000
Contingency Bcservc 1.35,000
Surplus i.e. Balance in the statement of P & |, 1,26,000 2,82,000
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Trade payable

Creditors

Acceptances

Short-term provision
Provision for tax

Property, plant and equipment
Freehold premises

Machinery

Furniture and fittings

6. | Trade receivables

Sundry debtors

Less: Provision for Doubtful debts

Bill receivables

7. | Cash and cash equivalents
Cash in hand
Cash at bank

11

1,13,000
20,000 1,33,000
1,10,000

2,20,000

1,77,000
90,800 4,87,800

80,000
4,000 76,000
15,000
91,000

2,300
1,56,500 1,58,800

K Ltd. decided to take over R Ltd., from 315 March 2023 with the following

assets at values noted against them :

Bills receivable
Freehold premises
Furniture and fittings
Machinery

Stock

Rs.
15,000
4,00,000
80,000
1,60,000
3,45,000

PT.O.
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y the allotment of fully

One-fourth of the purchase consideration was satisfied b Pul
which carried 13% dividend on

paid preference shares of Rs. 100 each at par, , _
Cumulative basis. The balance was paid in the form of K Ltd.’s Equity shares of

Rs. 10 each, Rs. 8 paid up.

Sundry debtors realised Rs. 79,500. Acceptances Were settled for Rs. 19,000.
Income-tax authorities fixed the taxation liability at Rs. 1,11,600. Creditors were
finally settled with the cash remaining after meeting liquidation expenses amounting

to Rs. 4,000.

You are required to :

(i) Calculate the number of equity shares and preference shares to be allotted
by K Ltd. in discharged of consideration;

(i) Close the books of R Ltd.; and

(iii) Pass journal entries in the books of K Ltd. (18)
OR
(a) Given is the Balance Sheet of Weak Ltd as at 31* March 2023
Particulars Note Rs.
I | EQUITY AND LIABILITIES
1. Shareholders’ funds
Share capital
5,000, 7% Cum. Pref. Shares of Rs, 100 . £0000D
1,00,000 Equity shares of Rs. 10 10-00.000
and
Reserve and surplus T o000
2. Non-current liabilities
Long-term borrowings (7% debentures .
& Building) on security of Land
5,00,000
3. Current liabilities )
" Short-term borrowings - Loan from Direc ,
e Hoom
Trade payables (Trade creditors) i
— C—— 4,00,000

P B G S B s o g
Viiyaamy
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Other current liabilities (Outstanding debenture interest 17,500
Total 22,77,500
Il | ASSETS
1. Non-current Assets
(i) Property, Plant and equipment
Land and Building 6,00,000
Plant and Machinery 5,50,000
(ii) Intangible Assets .
Goodwill : 75,000
Patents 50,000
Other non-current assets- Non Current Investment at cost 60,000
2. Current assets
Inventories (Stock-in-trade) 4,30,000
Trade receivables (Trade debtors) 4,30,000
Cash and cash equivalents (Cash at Bank) 2,500
Other Current Assets (Prel. Exp.) 80,000
Total 22,77,500

Notes: Contingent liabilities include Claim for damages pending in court

totalling Rs. 50,000 and arrears of preference dividend Rs. 14,000.
Following scheme of reconstruction has been duly approved :

(i) The preference shares are to be reduced to an equal number of fuily
paid preference shares of Rs. 80 each and the equity shares are to be
reduced to an equal number of fully paid equity shares of Rs. 2.50

each.
(ii) All intangibles are to written off,

(iii) Stock is revalued at Rs. 3,80,000 and bad debts of Rs. 30,000 are

to be written off.

(iv) Preference shareholders agreed to waive half of their arrears of divideng
in lieu of receiving equity shares for the balance.
— .{..‘T'. '(‘ j
A LBRARY
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(V) Dt‘bcnturc holders agreed to take over l?!lrl of (‘hc'm:‘c:l‘lr‘lty of b(m.k
value of Rs. 1.80.000 for Rs. 2.50,000 in part snl‘lsf‘n(‘.tlon of thejr
claim and pay further cash of Rs. |,50.00f) after jjcduulng‘nrrcar.s o
interest due t.n them on floating charge of rest uk'the nsscts- PrOVided
they are issued fresh 10% debentures for their balance claim,

(M) Directors agreed to convert their loan into equity shares.

(vii) Contingent liability is settled at Rs. 10,000 through issue of equity
shares,

Pass journal entries and prepare the balance sheet as at 1% April, 2023 after

reconstruction as per schedule 111. (15)
(b) Explain Amalgamation in the nature of merger as per AS 14, (3)
5. (a) Define segment assets and liabilities as per AS-17. Q)

(b) From the information relating to four segments of X Ltd as given below,
identify reportable segments :

ts. In Lakhs
Segments A B C D Total
Segment Revenue 100 | 300 200 400 1000
Segment Result (40) 90 110 (10) 150
— 7 7] 0 :
Segment Assets 25| 125 88 92 330
Tax Assets included above
Segment 5 5 8 12 m
(5)
(c) List the contents of Directors’ Responsibility statements (5)
OR

SN A f'\.\r
. \ 3 4
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—
b

(a)
(b)

(c)

(=)

(@)

15
Write a short note on XBRL. ()

Net profits of ABC Ltd for the years 2022-23, 2021-22, 2020-21, 2019-
20, and 2018-19 are Rs. 30 crores, Rs. 26 crores, Rs. 19 crores, Rs. 15
crores and Rs. 18 crores respectively. During the year 2022-23 the company
spent Rs. 7 laks on medical treatment and Rs. 3 Lakhs on free education of
its employees. Rs. 10 lakhs as contribution to Swachh Bharat Kosh set up

by Central Govt., and Rs. 5 Lakh on providing training to local sportspersons
to encourage rural sports. State the amount of shortfall or surplus on CSR

during 2022-23 as per The Companies Act 2013. (%)

Can a company has its own inter-company transfer policy as per AS -17?

(5)

X Ltd 13,000, 15% A=-1a JREF 390 61 10% D NHEH W 100 9@ 97 IR S
MR W AT & @ (Al @t 81 397 9,20,000 TA H qHI ARG fAf,
6,30,000 T T A 3R BT AW, 2,25,000 TG T wiowfa WA, 6,30,000 T4
7 ¥% JoG IR 18,00,000 TA & AW (3fHA A9 10,00,000 TA) 21 40%
3w SR e D 150% W A W F1 FTN 88,000 T B 15% RIW W
W@ 3 100 T B TR TR D 12%, 100 AR TR H 20% F AT | T
F @1 Fig 9 21 AR S I ¥ @R ¥ 5,00,000 T H IV EN IR
G AN AR B @I A T A TG @A e 2, A ST AR, 2013
7 A W FE B o 25% M w o e I Ao Rl W R e
Z@ & A Aol (8)

7= Fafide ¥ 40,000 I B g sider syt e & fo v WiReed it faan
X, Y 3R Z BRT 60%, 25% 3R 15% & ¥ A Jwwse e ™ ¥ HER X,
v 3t Z 3w 3,200; 1,200; 3 4,000 IR P fw e fowam R s
gfea @@ 5= HIATA 20,000 A & fow A X, Yy 3k z & Rt 3des ww
4,000; 8,000 3 2,000 TR P forg 1 ok ST T TN JFT SisTER
1 fear S T8 WA EY SHEWEed o) Taeal ol HEEeE wAI A Y gty

I B i . (7)

A

- .4.

P.TO.
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Frorat
(F) ABC Ltd 3t zfad) Fad) o1 oo B 12.50 Wi e 2 o0 o @dey Fr A

TR D) PR TR A, A A wen @ o e i wn
iR, 2013 @ wauR @ JER AE @d FEwd 2

T
T I (= 10) 80,00,000
10% SRR I/ TSR (. 100) 20,00,000
v v 24,00,000
N A st Bl 12,00,000
T JRfea fAfer - 22,00,000
FeRy 6,00,000
12% fRs 1,40,00,000
wfes@ =0 1,00,00,000
g 32,00,000
o T 8,00,000
(¢)

(@) Wi e 3 o RAR el = o T = 5,00,000 10% RA = 102%

W AR B A TE D W K AR R BRI ar = wewmn A = Rww
foqr e #

(i) T 20 @ 5% 8- HAT IR T 2250 WA IR W q
(ii) 96 T W 100 TA & 6% RAw =

(iii) 7 & o IR R HY R @ R

1,71,000 T % T Ul IR e A e v s 2 1,44,000 T @
mmm%mmmmmmﬁmwﬁwmm

St A A R T R Py ke el ) e )

st AN T ECS L IRDADY
‘/j'_‘,\l ‘”‘H_) UULLLEVL LITANY
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ST SR Rt @ Freffed RO Wa By T #1 AS-3 # SR
TR WE R ¥ e e W A B TR A T g A e

2 (a;)

e

Rww 31.03.2023 31.03.2022
B IR U @ 10 v 10,55,000 6,00,000
5% AR IR geft 7. 100 HAP) 2,00,000 4,00,000
I IRfga Ay - 1,40,000 4,40,000
™ 3R B @ 6,42,000 (13,000)
wfrgfa shftrm 52,500 20,000
golt die Ry Ay _ a 1,50,000
R-arg et (2% &) 2,75,000 1,50,000
AT 3gamnd:
fSfR R Ism = 10,000 -
TP SHSI(T HHA 5,000 :
bt Rt wR grar A fapan war i 20,000 -
s T ) 30,00 -

FAfaRaa S :

(i) 1 5%, 2022 ), v (sFradt TwiTr @ 35% WfRT) W W faRar T

(ii) 17€, 2022 B, 5% WA W FRFET I B AR F T T7T R 15 T
wfer I & W B 20,000 TS I T g MW

(i) 1 R, 2022 T, 15 o Wi R W 15,000 IR A WX B
forg A = 100 T Wi T E 2 A AREER IR T T T IR b
&, 50% RAT & 10% N W &R T4, 10 T TRF D IRAE IRy
¥ qRafda F@ 15 T 9y I A W F AR 100 TA WA A R A 7@ 7w
R Al A W AT e

A COL

PTo.

ANE P AR
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sy wfeniferat &
(iv) HIWEger wgHt s, 2013 & IR AW ™

L iUl

(v) 319, 2023 ®Y, 30,000 o ) T AR A A 20% D ke

TR WY TR o W aE |ael Tl (12)

(|) v fafRs soe) P S Fer et B

10 ¥93 4fd ¥ 3P W 100 TTE 394
8% ST TR 100 TR Y R G e A YT YT AR | 20 T T
T RI&d AR 30 1 E ¥4
G HRfEd AR 5 @ ¥

AT B 910l aY & 1T 817 31.3.2022 2 WG U, 31.3.2023 1 TG S

Sf@ iR B QX 2019-2020 F 0%, 2020-2021 B 16%, 2021-2022 7 17%,

o T 2022-2023 F o 10% N ® A wriw AT wET T 2 W @
memlm%mmmwﬁmm’“
T § Fo R AL IR R o e 1 v v @ e o
& farar T 21 %)

gy
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ST, 2023 = A Rifide & wd ard F Pl 33w T e 7

—

43T 8 S AT 1,50,000 | gfee TaR gt 6,00,000
& 500,900 | (¥.10 93 & gUf Uad IW)
I IR Forgh 3,59,000 | ST ARfEa A 2,50,000
Ha P A 26,810 | 21T = faT T AT 6,520
fafay 31,090 | STIR &7 36,880
T R AR 2,00,000 | fargt 10,83,940
TRT OR HIeR a8 30,000 | "HeTN & foQ Hrau= 71,000
RT IR TR 5,000 | fFRAYT R =S 8,540
e g A 1,72,050 m_jggg'ﬁ foreror 7 o | 16,840
IR 9 2,23,380 | HHARY Hfasy Ay 37,500
R CEeeife) 2,88,950
B BT A YT 50,000
TN 72,240
fRye F BN 1,800

' 21,11,220 21.11,220

=7 A IR P e 4, 31 A, 2023 T HEN F W@ N 3K 39 [/ =
T B g ag & forg @ IR T @R @ A R A

(%) 31 A, 2023 @ fada AT & AT 1,48,680 TG @1

(|

2l

()

o e = 2,750 T 2

) s gaferdt W e & fow 10,000 A, Ry N 9w & T 1,800 T
@zﬁmwﬁmﬁfﬁﬁufw%ﬁwm%mo,zoomimmmw

PTO.



3861 20

() 2022-2023 & vy @ e & w0l @ oY 50,000 T 77 AT FTEE B

(¥) PR wiew 43w e ot s @ o 6% ) A iR i S AT SRR
fRAfr = 30,000 79 ¥ WA &1 Wedrd F B

() =N o el & ot @ g 2,500 T B A W e P o 7@ B

(®) Mg G = 10 % @ 80,000 T AW F1 FH F 10 T 7Y I D
60,000 ¥R WA frg & . (24)

3 (%) S e & R ¥ P T T B

12% 01 Gl Rs. 800 crores
' m@ ' Rs. 250 crores
IRFET P SR iy Rs. 50 crores
15% G{WW@ ~ Rs. 100 crores
g A, ﬁwaﬁmﬂ Yo A o §
qeTFH . - | 15
GiyemsT & IR 15.5%
FX & 96 qRAE A 225 T T
A R 25%
wfeems @ S o ) 6.5%
ffer ea aftid @ ToET i) (9)

s “ -\P <,
AT\ Lot
~ (M \ C«)
» (J(')\”
L0
W

“en’
‘:”\\(
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fwm | v. ¥
SO Im g 10 TR R R AT 4,00,000
I 2 TR TR P (2000) | 3,98,000
8 IR O 10 TR R 5 TR A 80,000
| 12% 8-
ﬁ%ﬂ% SR ARG 100 ¥, QAER | | ) 000
'!immﬁ 30 ¥ DI RRFA BIa 6,000 | 94,000
| IRI& IR Ry 3,00,000
TIPS B 1,00,000
| 10% SR (50% AR P IR F @HIIH
AT R) 1,00,000
TeRa 90,000
Yy, ¥4 AR IuS 3,00,000
10% F1asT (3ifa Tl 1,00,000 ¥T) 1,20,000
ISR 5,62,000
Ffakaa THEA -
(i) TR T = 1,90,000 B FA Fufey, T TF IUHT HI AFAEA 1,30,000

=% qrr T 21 R ¥ ¥ 20% =R ARAw # 3R 3w W-=mr R

R AW [ A A 10% w7 & IR K- wmwa&?w%
25% e B

(i) @& @ # wraEe FE e 1 faa @ww R @ A 19,000 T w
farar e 21

(iii) 2R ¥ A X 3 H T 20,000 TA W ¥ ¥ Rafrn M farg
T & R RAA 50% F VA o ah B

hradt W B AR T A W A, 78 A= qe MMM

3 qat & forg @ B
o\ (9)

PTo.
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Jrerar

(%) 31“2023ﬁﬁm%ﬁﬁmmﬁ,ﬁ@ﬁwﬂ%m
AT a9 A @ @ UR W IEEA W I Ff)

(i) R qd froa ar a6l @ o a¥ 2019 - 20 A 13,50,000 7947 a9 2020 - 21
W 13,50,000 €939 9 2021- 22 T 18,00,000 T94F T4 2022 - 23 AH

®. 22,50,000 ¥

(if) =oeT o ) @ A 31 A 2023 H 10,00,000 T F 10% R (HHT T
8,00,000 ¥ fRwmm T ¥ 20% FAW =WRE R Av K -=RE T
R -=Re e 1 FRER 2022 W @l T A

(iii) 1 W 2021 T 2,00,000 TA ¥ |AS TE HIHAT A WA @ & AT qqD
%%ﬁzﬁmwmﬁbﬁammﬁaﬁm%;m wDV fafer &
10% & R ¥ To08@ Lod ol 2l

(iv) 2020- 21 S F<A 1 FeAdH+ 1,00,000 TIA F IR I 2; 2021- 22
¥ 60,000 T 3 3R 2022-23 ¥ = 80,000 ¥ FH AeAH f3har M|

(v) 1 30 2023 |, yauF F WRAE A 1,00,000 TA N I WM T A R
25% BN I FIA FHAARA & g goemE ¥ AT AR T B B Gt
& & o @ 2, @ @nm ¥ 75,000 Td @ ww B6M (10)

(@) Mﬁﬁﬁ@m%mwﬁw@ﬁdﬁm%ﬂ%f

o - 1 n | m || v

Ue 39 P H0 AH (@@ T H) 4000 | 6000 | 6000 | 8000 | 4000
| E—

5 ARd STH BT HA TH @G E. H) | 1000 | 2000 | 3000 | 4000 | 1000
RS E

witera) Wilaarery TRTh el

AL INDL OO S0 T IRRARY
t\, \'._'}b-‘. ! '-.‘\"..{ L l._ L.\‘\.\‘\‘:\'—(
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TR FHt Ivafa @y = 5 af
RS stew gt wnE = 15%
a§ 1 || I v v
15% Pl xR Uidius | 0870 | 0.756 | 0.658 | 0.572 | 0.497

HawEs : At st dew & 98d Wi & d RuiRa #fe

4. 31 9H, 2023@Ruda?r§éin‘hzwm%:

faazor AicE. 3.
gt sk Tgane
(1) IRYRSD! 3t Ay
(%) R Yoit 1 6,00,000
@) 3Rf&A 3R ey 2 2,82,000
(2) T <Y
(%) SIUR Gard 1,33,000
(=) HTAPHTIAD WTaUT= 4 1,10,000
oq 11,25,000
anfemat
(1) !R-arq 3t
Hufay, W97 3R Iua0 5 4,87,800
(2) 1] nfea
() §a<q (TP) 3,87,400
(@) AR wif@at 6 91,000
@m) Fbdl 3R FH G TG 7 1,58,800
) Fq 11,25,000

PTo.
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[N— 3. 3.
1| QRS

100 393 Ufd F 60,000 bt AR 6,00,000
2. | SRf&d 3R =y

g4 Ay 21,000

TS WH R AR 1,35,000

Ry 71 Ay 3R B1f faawoft & acdw 1,26,000 |  2,82,000
3. | UUR <Tan

AR 1,13,000

34T 20,000 |  1,33,000
4. | APIAD UIGUH

P & forg rau= 1,10,000
5. | gufy, T R IuH

o4 Wit 9 IR 2,20,000

N 1,77,000

FAfER AR wife™ 90,800 |  4,87,800
6. |oamaR wfea

fafgy e 1eR \ 80,000

geTy. Tfery o1 & ferg araur - 4,000 76,000

faqr @ 15,000

: 91,000

7. | Fapdl AR TH THGA

g1y B TPl 2,300

3 A DA 1,56,500 | -1,58,800

KLtd%Slﬂr*f2023%Rudﬁﬁ%%ﬂ‘ﬁﬁzﬁwm.wwmm
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[ — [ Rs|
g faq 15,000
quf Wi aren aaR 4,00,000
HfER 3R fbfa 80,000
T 1,60,000
i 3,45,000

@0 WRE o Th - e WRET W T 100 9N D iF e Jfeme 3ad @
FEe A Ggee o, Forad Gt STaR W 13% A T AW AR B FEE K Lid
A I D T H 10 T WA, 8 T wed fHAr W@ Am ’

fafy 3R F 79,500 T o SFRY 19,000 T F 7@ N TE M FEE SRHRA
3 U 2441 1,11,600 T TG FH AR B Aqd: 4,000 T D IREAGT @@= DG

aﬂ%%mﬂwaﬁﬁ%mﬁmwn

HTHY & FE I AEEDA B

(i) wfewa & fdeT ¥ K Lid SR Jafes g o arer sfrdt i 3t e S
o G AT BIG;

(i) RLtd & 78 @ 9 Hf; 3R

(i) KLd & @ @l & so wRafkeat wilte fm (18)

31 W 2023 @ A1 RfRT & Adw de & ¢ 2
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i 3.
faawor
\
S R e
SR T
TR Pt
100 39 gq;,oo,ooo it IR 5,000, 7% - 13’88’8%
R SR iy (4,90,000)
2. R- =1q dgarg
ABEAINED 3t uferyfd &R 7%
fS) TR ot SR _ 5,00,000
3. 9Iq &g
ei?qasrfaa; IUR - Rz A B ~1,00,000
- 9% SR 2,50,000
IR <garg (TUR TER) 4,00,000
3 A &N (ST fSdwR =) 17,500
Total 22.77,500
3nf&ai
1. IR-arq snfemi
@) ng Hsh? IR Iuauy
o
i IR T e
(ii) 3t st
Isfaa 75,000
m 50,000
3 MR-, MR- Tl R MR- vy Py 50000
2. 9T 3f&ygi
bl 4,30,000
:?:I BC Al o 30,000
Tl TG @ 3 Tl
i ey 2,500
S 1 SR e o
22,77,500

) -
RePRNCIRE
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RUCE m%«mﬁwﬁvﬁ%maﬁamaﬁsomo@ﬁ'
SRR i T T 14,000 T WA 21

TR &) R doe @ Rt st a2

(i) mﬂﬂﬁaﬁeo@uﬂﬂﬁ%@ﬂmmmﬂaﬂmw
¥ e W 2 IR TR I A 2,50 TR W B o e gfEd T

&) A G ¥ vern S 2

(i) T e B @ @A ¥ T 2

(iii) eTen =1 G 3,80,000 +7 R foFa e 2 3R 30,000 TA B FMA
=0 T w2 @A § I o 2

(iv) SRR e A R 3REE AT I T B A H S
TFEET AR FA D ¢ FEHT g '

(v) R¥W aReE F9= 7 &t Fifarer Gt & ¥ ¥ 2,50,000 T ¥ 1,80,000 T
%aﬁ@ﬁﬁ@ﬂ@mﬁ%ﬁtmwﬁmﬁﬁf% FER TR W
3= 3 st E T TR W B AT 1,50,000 T i FAReF AR AN
1 ST F B o0 WEH gY, T o 3 Fo A 7@ F forw A 10%

R 9 farg T
(vi) s AT O N IRES DR A aRafd T & o @ E g
(vii) TRrEd FaX T T D AW J Hewfech I 10,000 T W T AR

21
S wfaftedt wite R SR SRR 1P AR YA @ e 1 S, 2023
,W‘%WWWWWI (]5)
(@) AS-14 @ IR fea A v ¥ T @ e e (3)
5 (®) AS-T7 @ FaR e YRGufal W%ﬂlﬁﬁf‘dﬁmml (s)

PT.O.
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(W) AN X g @ ar g @ Gafw TR A, RAE FA dvg Fa (dwie)

N T R
v agH
'{ia'r'f\ A B C D Total
ARG Haf 100 | 300 | 200 400 1000
ooy garf @0)| 90| 110| (10) 150
& Faif 25| 125| 88| 92 330
SRIF Ffed FR i Fart 5| 5| 8| 12 30 (s)

(31) ﬁ%ﬁ%mﬁamﬁﬁﬁw—a@aﬁaﬁml (5)
, Jreran
(%) XBRL W dforw Rk oy (5)

(@) & 2022-23, 2021-22, 2020-21, 2019-20 3K 2018-19 B BT ABC Ltd T
€ A HAW 30 HAT T, 26 FAT T, 19 FA3 T, 15 FAT T 3K 18 T
g 31 a¥ 2022-23 B WA TN ¥ R IR W 7 A w9 sk snﬁ
FHAARA T JH e W 3 T T T R Ry WER W i s wwy
A ¥ A F T H 10 ARG T SR A @A R Wi wer @ e ey
m@ﬁaﬁwﬁr&wmmﬁWSWM|mm2ms%m

2022 -23 & I AEAR W M A1 3oy Y afdr sgw (5)
(n)mAS-w%WﬁWMﬁMW-MBﬁm ;M D g
27 (5)

130

v
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4 TEEEH-TF & IHN Fdon a1 B vt v W % At A=
N I AW T B BT ey |

1. (a) What is Corporate Veil? When can it be pierced

as per statutory provisions under companies act,
20137

(b) The numbers of members of a company registered
as a public company is reduced to 6. Explain the

~ consequences and remedy if any in this regard.

(c) Explain the meaning and objects of a producer
company.

OR

(a) The directors of Synergy Pvt. Ltd want to convert
their company into a public limited company.

Advise them about the procedure involved for this
under the Companies Act, 2013.

(b) “The expression ‘Promoter’ has never been clearly
defined either judicially or legislatively despite the
fact that it is frequently used both in decisions
and statutes”. Comment on legal position of

promot : c
Crs as per companies act, 2013 provisions.

e TR yeer

/; RIS .:_‘\!"\"“(’iil.
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2.

(¢) Explain the procedure for online registration of a

Company,

(a) A company’s object clause in the Memorandum
of Association is of fundamental importance not
only to its members but also to the non-members.
Elaborate along with procedure of changes in
object clause in MOA.

(b) “A Prospectus must state truth and nothing but
truth”. Do you agree? Explain.

(c) Discuss the rule laid down in Royal British Bank

vs. Turquand. Are there any exceptions to this

rule?
OR

(a) ABC Ltd. issued a prospectus with misleading
contents in it. X, an investor had the knowledge
of the misleading contents so he did not subscribe
for the shares. However later on he purchased
some of the shares from his friend to whom the
shares had been originally allotted by the company.
X, then claimed compensation from the company
on the ground that the prospectus contained the
risleading content. Can he succeed? Explain with

reasons.

Heilde {{ ‘\:" 3 U\ i \ & '
N -1 RRAF P.T.O.
=GE LIBRARY

i,z,il(""‘”



3864 4

(b) The articles of a company provided that the
event of a sharcholder becoming bankrupt, pig
shares would be offered for sale to other
shareholders at a price fixed by the company. |s

the provision binding on the shareholders?

(¢) “One man Company is a perfectly valid company”.

Comment.

3. (a) What statutory provisions must be complied with

before a valid allotment of shares can be made?

(b) What is a dormant company? What conditions are
to be satisfied by the company to apply for this

status?

(c) Differentiate between right shares and bonus

shares.

OR

(a) Can a ‘minor’ and a ‘partnership firm’ become

members of a Company?
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(b) What are the provisions of law as to ‘Employee

Stock Option Scheme’?

(c) Explain legal position of directors of a company.

4. (a) Explain about the provisions under the Companies
Act, 2013 regarding the application and allotment

of DIN.

(b) What is an ‘Extraordinary General Meeting’? Can
it be convened by the directors on their own? Is
it possible for a company to adjourn EGM on the

ground that the quorum was not present at the

meeting?

(c) Write a note on participation in a board meeting
through video conferencing. What are the matters

that cannot be dealt with a meeting through video

con ferencing?

OR

e a note on ‘postal Ballot’.

(a) Writ
1\]{‘;(1\‘
el e | : Vn"”' »

| LEGE LIBRARY P.T.0.

~ 7/ ! I\
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(b) What are the statutory powers of directors?
Explain the powers which the board of directors

cannot exercise without a unanimous consent.

(c) Can a director be removed by the tribunal before

the expiry of his term?

(a) What will disqualify a person from being appointed

as an auditor of a company?

(b) Discuss the grounds and process for the voluntary
liquidation of a corporate entity as per the

insolvency and bankruptcy code, 2016.

(c) Define a Depdsitory. What are the salient features

of the Depository system?

OR .

(a) A company is required to pay dividend to its
shareholders within 30 days of its declaration.
State the circumstances when a company will not
be deemed to have committed any offense even it
does not pay dividend within 30 days.

'l)i'w'|‘\‘l «"l,"l‘.-v\""

KALINDI C
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(b) A company’s trade has been suspended
temporarily owing to the trade depression but it
has bonafide intention to continue its operations
when conditions improve. Can it be considered as
just and equitéble ground by the tribunal for the

winding up of the company? Decide.

(c) Explain the process of dematerialisation of

securities.

1 () ®URe O F B? A JAFEH, 2013 D qEd
mm%m,ﬁmmwm
87

(®) qﬁaﬁmm%mi’ﬁm-ma}wﬁ
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oA & A [Rdw

1

@ yE-1F B fied ® W Ry 1 Fulila wmr g g
CECLICRTIC il

T T | g Fd B

TR W T UAE B AT UIH @A 5§ HE JaRkEs
fRewea =t 21

IR FAoh a1 B A foren 1 whan B; AfhT IR A v &
AeAw T ITENT AT T AR '

(a) Define Human Resource Management? What role
has the HR manager to play in modern industry to

achieve corporate objectives effectively? &)

(b) Explain the concept of quality of work life. Also

mention some of the techniques for 1mproving

quality of work life. (9)
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(F) = e &t UrE i FEURET F W Q) w>
W R Qo ¥ gER B PR GO qEAE o R
I Fifem)

OR

1

(c) “Downsizing is a planned elimination of positions
in an organisation.” Do you agree? Critically

examine the statement. )

(d) “Human resource planning is more common in
large organizations than in small organizations.”
Do you agree? Give reasons for your answer and
explain the steps that are involved in the human

resource planning process. ©)



3866 4

(®) “oomwERE AR W A @ @ Fafe s
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& fav sru ARm 3R wFa gaue faee siear |
TS WO & R e

2. (a) Discuss in brief the significance of proper selection
of personnel. Outline the steps that are involved

in the selection procedure. 9)

(b) “Shortage of talent is a major challenge in the
modern industrial organization.” As a HR manager,
what strategies you would adopt for attracting and
retaining the talent in your employing organization?

(9)
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OR

(c) What are different methods of identifying training
needs? Discuss in detail the steps followed to

design an effective training program? (9)

(d) Define the term job analysis. Distinguish between
job description and job specification and job

analysis. 9)

- 2 3T T T TAET— 14
HrteA-al Aaldeilcid UxddTay
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() whem smawmEas 6 wae &3 @ At a8 =
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Y FeRl W RAwr ¥ o= Alwe?

(&) = Rvewur y= wF qRwia AR ) Rawor 3k
AwG fafdy sk At feww @ 9 FW
ml s

3. (a) Why is employee counselling required in an
organisation? Briefly explain various types of
counselling used in an organisation to deal with

problems of employees. %)

(b) What are the various traditional and modern
Performance Management tools? Explain in detail

about the BARS. 9)
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F T T BT TR @ F99ET & 999 ¥ Ui
Fifs10)

(@) faf= owafts AR FgfRs wedF w@uT ST R/
27 BARS ® aR ¥ famw ¥ =amw)

OR

(c) Differentiate between “Sensitivity Training’ and
‘Role Playing.” How 1s role playing useful in
management development in the present era of

globalisation and liberalisation? (9)

(d) What is performance appraisal? Why is MBO
considered as a better method of performance

appraisal? What are its limitations? (9)
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(&) Freadiaa wEEw @R s T @ @ JWw
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27

4. (a) Why is it important for an organization to take
care of employee’s health? What provisions can

be made to ensure health of the employees? (9)

(b) Discuss the ‘profit sharing’ ‘gain sharing’ and
‘employee stock option’ incentive plans. How these
incentive plans promote a ‘culture of ownership’

among all employees? 9)

(T) R grew & fw TR 3 @RE & AR W
ﬂm@%?mﬁ&f%ma%gﬁﬁaam
* v T yau Y W @@ 27

— -—r T o TV YT
. |

& am R B

vi p i e '7
oo ] BETTEZCTd Uiidiold

YA EIN aY N a

"\f"-!i"‘ u_; cGE Lu::_:l& Y



3866 9

(@) o e g Ao s
fager’ GreaET AR W O FoR A WA
A AR SR @ 9 e @ g’ B Pl
Tgrar 3 27

OR

(c) When does a grievance arise in an organisation?
What strategies can be adopted to ensure a stress-

free environment to the employees? (9)

(d) “Several fringe benefits are offered to executives

to motivate them and retain them to enterprise.”

Explain this statement 9)

(@) Rt e ¥ RIEEd F9 IO B 27 FHAmar @y

P.T.0.



3866 10
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5. (a) Write short notes on any two from the following-
(4.5x2=9)
(a) HR Audit
(b) e-HRM
(c) Human resource Information System (HRIS)
(d) E-learning

(b) Read the case study carefully and attempt the

question.

Mr. Sharma has a small business set up employing
100 workers. Now he is planning to further expand
his workforce. He discusses the situation with the

new human resource manager of the organisation.
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He expresses his interest to have a mix of old
people who have a better understanding of the
running processes and new joiner who are more

tech savvy and hold professional degrees.

(a) Assuming that you are a human resource
manager, what would you suggest Mr. Sharma
so that he is able to manage his human

resource efficiently? 9)
(%) e ¥ & Refl W W R el
(%) wasw e
(@) €~ W S

() e s g W (HRIS)
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1. Attempt any six from the following questions :

(a) The mean marks of the 80 students were found to
be 45. Later, it was discovered that two student’s
marks were misread as 45 and 56 instead of 54
and 65. Find the correct mean corresponding to

the correct score.

(b) State any three propertics of standard deviation.
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(¢) The first four central moments of a distribution
are 0, 4, —6. and 70 respectively. Comment upon

the Skewness and Kurtosis of the distribution.

(d) Find the value of third quartile if the values of
first quartile and quartile deviation are 45 and 10

respectively.

(¢) The following equation has been derived for the

production of wheat :

Y =580+ 125X
(Origin: 2015; X unit: 1 year; Y unit: Tonnes per
year)

Rewrite the equation by :
(i) Shifting the origin to 2020.

(ii) Express X units in months and Y units in

Tonnes per month.

(f) The regression coefficient of regression equation
X on Y is ~0.23 and the same for regression

equation Y on X is —0.60. Find out coefficient of

(
‘" \q

\ | | i - l "““ ." ".\ 'A‘\
() Lot e,.\!._.tl\,"\a'n.\{

correlation.
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(g) Explain the time reversal and factor reversal tests

under Index Number.

(h) “Arithmetic mean is always affected by extreme
values’ Do you agree? Explain with the help of an

example. (6x3=18)
OR

(a) Following are the data related to two data set :

Company A | Company B
Number of employees 100 200
Average Salary 1600 1750
Standard Deviation of Salary | 16 17

Compute the following :

(1) The combined standard deviation of salaries

of the two companies.
(i) Which company shows greater consistency?

(iii) Which company pays larger pay package?
(%)

\."
’

e e | EGE LIBRA
KALINDI CULLESE



3862 5

(b) A box of 100 gaskets contains 10 gaskets with
type A defect, 5 gaskets with type B defect and
2 gaskets with both types of defects. Find the
probability that:

(i) A gasket to be drawn has type B defect
under the condition that it has a type A
defect.

(i) A gasket to be drawn has type A defect
under the condition that it has a type B
defect.

(111) A gasket to be drawn has no type B defect
under the condition that it has no type A
defect. (9)

2. (a) Following is the distribution of marks obtained by
100 students in Statistics Paper :

Warks (More than) 0 10 | 20 | 30 40 50
[ No. of students 100 | 92 % 80 40 20 6

— ]

Calculate the median marks. Also, if 60% of the

students pass the test, find the minimum marks
obtained by a pass candidate. 9)
i '.\"%

. TP
':"a.i\’\‘(
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(b) The first four moments of a distributjgy, about
alue

5 are 2. 20, 40 and 50 reSpective]y_ You 4
re

required to calculate:
(i) First four moments about mean,
(ii) Skewness,
(iii) Kurtosis | o)
- OR

(a) In a factory producing electric bulb, machine A, B
and C manufacture 40%, 35% and 25% of the
total output respectively. ‘Out of their output,
respectively, 4%, 3% and 5% are known to be
defective. A bulb is picked at réndom and is found

to be defective. Find the probability that:
() It is produced by machine A
(ii) It is produced by machin B

(iii) Tt i produced by machiné AorB 9

‘ [T ey T y oy T €
1 i 0{}-:”(£ (‘“('i."} I".‘\'\,(,‘/H' ‘
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(b) A salesman makes a sale on an average to 30%
of the customers he contacts. If 5 customers are

contacted today, find the probability that:
(1) Could not make sale

(1)) Could sale to exactly 3 customers (5)

(c) What is Poisson distribution? State the conditions

under which this distribution is used. (4)

3. (a) Explain, with examples, the independent and

dependent events. (4)

(b) An investment consultant predicts that the odds
against the price of a certain stock going up are
5-1 and the odds in favour of price remaining the
same are 1:4. What is the probability that the price

of the stocks will go down? (5)

(c) An enquiry 1nto the budgets of the middle-class

family 1n a certain City gave the following

information :
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~I—l;”;~_~,‘_* i Fo;)d Fuel | Clothing | Rent | Miscellaneous
9 expenditure 30% | 15% |20% | 15% |20%
Pricein2010(®  |750 |125 |375 150 | 200
Price in 2020 (?) 825 | 145 | 395 160 | 225

From the above information construct a cost-of-

living index of 2020 compared to that of 2010.

Suppose Mr. Devavrat is earning 325,000 salary
package in the year 2010. What should be his
salary hike in the year 2020 to maintain the same

standard of living as in the year 2010. 9)
OR

(a) A project yields an average cashflow of Z1100

lakhs and standard deviation cash flow of ¥220.
Assuming the distribution as normal, you are

required to calculate following probabilities :
(1) Cash flow will be more than 1350 lakhs

(i1) Cash flow will be less than 900 lakhs
(9)

. e L PPN T IR B el el A DN
KALIND!I COLLEGE LIBRARY
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(b) Following table gives the details of price and

consumption related to five commodities :

2010 2020
Commodity : :
- Price | Quantity | Price | Expenditure
A 10 40 12 600
B 12 50 16 640
C 12 20 18 540
D 16 10 12 240
E 20 10 22 330

Calculate price index number from above data using
2010 as base year from following methods:

(i) Laspeyres’s method
(ii) Paasche’s Method, and

(iii) Fisher’s method.

Also, prove Fisher’s Index satisfies both time
reversal and factor reversal test. 9

4. (a) Following are the data related to markg scored by
10 students of a class n Statisticg and Costing :

N [ '." Y. N -
i1 | o | y 'V Ty
!‘.l ",[1|!" |l~| "‘\“ ™
.

“a |l‘!(4

At INDYECOHEECE L iPR AD
KALINDI LULLERE LIBRARY - P.T.O.
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Marksin |35 |41 | 32 [31]30[27(35(37 6T
Statistics

Marksin 133 (31 |26 | 35|24 (3422125 [37 155
) I U BN N . |

Costing |

You are required to calculate spearman’s rank

sorrelation coefficient. 9)

(b) In a firm, the mean and standard deviation of the
advertisement expenditure were found to be 30
and 3 respectively. Whereas, the mean and
standard deviation of the sales were found to be
90 and 12 respectively. The correlation coefficient
of advertisement expenditure and sales was 0.8.

You are required to calculate the following:

(i) The two regression equations

nt expenditure

of Rs. 250

(ii) Estimate the advertiseme
required to attain a sales targef

Lacs.

e estimate

(1) What is the standard error ot 9)
(

in the regression of Y on X.
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OR

(a) In an end semester examination following marks
were obtained by ten students of a particular class
in mathematics and statistics:

Marks in 30 (33 (40 (37 |36 [41 |34 |43(39 |37
Economics

Marks in 48 | S1 |54 (46 (41 [37 [36 [35]38 44
Statistics

You are required to find out :
(1) Two regression equations,

(i) The coefficient of correlation between the
marks in economics and statistics,

(i1) The most likely marks of student in
economics if marks ip statistics is 80,

(iv) Calculate standard error of estimate (S.E)
for regression line Y op X (14)
(b) Differentiate between correlation apg regression.

(4)

5. (a) Following data relates to the productiop, op , sugar

factory .

YallE™ L) \
| ’|(\ LU L
KALINDT VS P.T.O.
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72014 | 2015 | 2016 | 2017 | 2018 | 2019 [ 2020

|
|
!
i

Production |
("000 tonnes) |

22 27 | 32 37{41 45 | 49
|

You are required to:

(i) Fit a straight-line trend using method of

least square

(1) What 1s average annual change in

production”

(11) Obtain the trend values for the years 2014-
2020 (14)

(b) Explain additive and multiplicative models of time

series analysis. (4)

OR

(a) Following are the data related to annual sales of

a company for the period 2014-2020 :

Year | 2014 | 2015 | 2016 | 2017 | 2018 | 2019 | 2020
(in lakhs %) I -

—— r

1] (

AD\/
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You are required to :
(i) Fit the second degree parabolic trend

(11) Forecast the sale for 2022 (10)

(b) Explain the components of time series analysis.

(4)

(c) If standard deviation of X and Y are 16 and 9
respectively, and coefficient of correlation between

X and Y is 0.8, find the two regression coefficients.

(4)

L frfie e ¥ 3 B 98 TR @ s AR

(%) 80 BEl & A FF 45 N W W ¥, g wrr W@
5 2 oA B b 54 I 65 B T 45 3k 56
2w % T R W AN W @R D e wh o
A FHIoRI |
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1.

2

(a) Distinguish between Cost Accounting and Financial Accounting.

(6)

(b) The accounts of Flex Manufacturing Co. for the year ended 31st March,

2024, show the following information :

S.N. Particulars Amount
€3]
1 Production wages 2.50,000
2 Direct material used 3,18,200
3 Chargeable expenses 30,000
4  Sales 7,80,000
5  Drawing office salaries 10,000
6  Counting office salaries 18,800
7  Cash discount allowed 3,000
8  Carriage outward 5.400
9  Bad debts written off 8.500
10 Rent, rates and taxes:
(i) Office 4,000
(i1) Works 15,400
11 Travelling expenses 3.600
12 Travellers' salaries and comm:s on 8,50
13 Depreciation on plant and ma. 6,500
14 Depreciation on office furniture 1.000
15 Directors fee 12,000
16 Gas and water (3/4 Factory, 1/4 Office) 2.800
17 Manager's salary (3/4 Factory, 1/4 Office) 24,000
18 General expenses 4,000
19 Hire of crane ' 5.000
20 Donations to charitable trust 2.000

},
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3

Pre .
Pare a statement showing (i) Prime Cost (ii) Factory Cost and (iii) Total

Cost and (iv) Net Profit.

OR

(12)

(@) The SP Chemicals Ltd. supplies you the following details from its cost

records :
S.N. | Particulars Amount (%)
1 | Stock of raw materials s on January 1,2023 1,50,000
2 | Stock of raw materials on January 31, 2023 1,30,000
3 | Direct wages ' 80,000
4 | Indirect wages 6,000
5 | Work-in-progress 1.1.2023 56,000
6 | Work-in-progress 31.1.2023 70,000
7 Purchase of raw materials 1,60,000
8 | Factory rent, rates and power 30,000
9 | Depreciation of plant and machinery 7,000
10 | Royalty payments 25,000
11| Expenses incurred on quality check activities 10,0000
12" | Office and Administrative expenses:
Factory office 25,000
General office expenses 10,000
T Carriage inward 3,000
14 | Carriage outward 2,000
15 | Advertising. 5,000
16 | Traveller's wages 12,000
17 | @hed goods on 1.1.2023 (1,000 units) 54,000
18 M@ished goods on 31.1.2023 (2,000 units) ?
—1o | Bad debts 1,000
2,000

19 :
20 me hire-purchase installments

Prepare a cOst sheet giving the Cost and profi

a profit of 25% on cost. The units manufactured du

10,000 units.

T «;I“\\qil wi.l‘l\"{z‘

“Ahilh y

) . —mp | IRR ;)\f‘\/
A1 COLLEGE LIBRARY
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t. The company wants to have

ring the month were

(15)
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4
(b)  Write short note on
(1) Cost Unit
(1) Cost Centre (3)
2. (a) Calculate the economic order quantity (EOQ) for material M. The following
details are furnished : 3)
Annual usage 90,000 units
Buying cost per order Z10
Cost of carrying inventory 10% of cost
Cost per unit 350

(c¢) The following transactions took place in respect of a material item :

Date Particulars

1 July Opening Stock 500 units ‘@ ¥ 20 each

4 July Purchased GRN 574 400 units ‘@ ¥ 21 each

6 July Issued SR 251 600 units

8 July Purchased GRN 578 800 units @ % 24 each

9 July Issued SR 258 500

13 July Issued SR 262 300

24 July ~ Purchased GRN 584 500 units @ ¥ 25 each

28 July Issued SR 269 400 units

prepare Stores Ledeer Account by using (i) FIFO., (ii) LIFO. (10)

d A counting (reatment of Losses- Waste, Scrap, Spoilage and Defectives.
( c

(3)
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5
OR

(a) The management of a company wants to formulate an incentive plan for the

(b)

workers with a view to increase productivity. The following particulars have

been extracted from the books of company.

Piece Wage rate %10

Weekly working hours 40

Hourly wages rate %40 (guaranteed)
Standard/normal time per unit 15 minutes

Actual output for a week:
Worker A 176 pieces

Worker B 140 pieces

Differential piece rate: 80% of piece rate when output below normal and

120% of piece rate when output above normal.

Under Halsey scheme, worker gets a bonus equal to 50% of Wages of time
saved. Calculate earning of workers under Halsey’s, Rowan’s premium

scheme and Taylor’s Differential Piece Rate. (9)

Distinguish between time-keeping and time-booking. Explain methods of time.

keeping and time-booking in brief.

)

rieral HEHAIe v e
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3.

(b)

also the basis of apportionment of expenses explain with s

example.

6

(a) Distinguish between allocation and apportionment of overhead.

Mention
uitable

(6)

A firm has three production departments A, B and C and two service

departments X and Y. The following figures are extracted from the books of

the firm.
Depreciation
Lighting

Rent

Other particulars :

Floor space (sq. feet)
Direct wages (3)
Light points

H.P. of the machines

Value of machinery €9)

Working hours

The expense

follows :

34,000

3240 Power

22.000 Others

400

900

20

75

12,000

3,113

500

600

30

30

Indirect wages

600

900

40

25

16,000 20,000

2,014 2,033

2600

3600

%4,000

X Y
400 100
900 700
20 10
10 -
1,000 1,000

s of Service Departments X and Y areto be allocated as



3863

(a)

(b)

7
A B C X Y
X 20% 30% 40% - 10%
Y 40% 20% 20% 20% -

You are requested to distribute the service department expenses to the
production department (A, B, and C) and calculate hourly rate of each

production department. (12)

OR

What is meant by under-absorption and over-absorption of overhead? How

are under and over-absorbed overhead treated in cost accounts? (6)

Compute the Machine Hour Rate from the following data :
Cost of machine 1,00,000
Installation charges 10,000
Estimated scrap value after the expiry of its life (15 years) 5,000
Rent and rates for the shop per month 200
General lighting for the shop per month 300
Insurance premium for the machine per annum 960
1,000

Repairs and maintenance expenses per annum

Power consumption 10 units per hour

WAL T f 1 i A (- [ )
KALINDI COLLLGE LIBRARY PT 0o
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(b)

8
Rate of power per 100 units N
Estimated working hours per annum 2200
(includes setting up time of 200 hours)
600

Shop supervisor’s salary per month

The machine occupied 1/4th of the total area of the shop. The supervisor is

expected to devote 1/5% his time for supervising the machine. (12)

Explain Normal loss, abnormal loss and abnormal gains with accounting

treatment in process costing (6)

Product B is obtained after it passes through three distinct processes. The

following information is obtained from the accounts for the week ending 31st

October, 2022 :

Total Process-1 Process-Il  Process-III
®) Q) ) )
Direct materials | 7,542 2,600 1,980 2,962
Direct wages 9,000 2,000 3,000 4,000
9,000 - _ _

Production overhead

1,000 units at 3 each were introduced to Process I. There was no stock of

material Of work-in-progress at the beginning or at the end of the period.

The output of each process passes direct to the next process and finally to

finished stock. Production overhead is recovered on 100% of direct wages.
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9

The f ;
ollowing additional data are obtained :

Proce
Ss Output during ~ Percentage of normal
the week loss to input
Process | 950 5%
Process 11 840 10%

P
rocess II1 750 15%

Value of scrap
per unit

2
4

5

Prepa
pare process cost accounts and abnormal gain or loss accounts. (12)

OR

The follo»iving is the on the execution of Contract the‘ Trial Balance of
Construction Company engaged on No. 303, for the year ended 31st

December, 2022.

Dr. (%)

Contractee’s account (amount received)

Buildings ' 1,60,000

Creditors

Bank balance 35,000

Capital account

Materials | 2,00,000

Wages
Expenses

Plant

8,72,000

1,80,000
47,000

2,50,000

Cr. ®

3,00,000

72,000

5,00,000



5. (a)

10

The work on Contract No. 303 was commenced on Ist January, 2022.
Materials costing Z1,70,000 were sent t0 the site of the contract but those
of 6,000 were destroyed in an accident. Wages of ¥1,80,000 were paid
during the year. Plant costing 50,000 was used on the contract all through
the year. Plant with a cost of T2 lakhs was used from Ist January to 30th
September and was then returned to the stores. Materials of the cost of

4,000 were at site on 31st December, 2022.

The contract was for 6,00,000 and the contractee pay 75% of the work
certified. Work certified was éO% of the total contract work at the end of
2022. Unce;tified work was estimated at 15,000 on 31st December, 2022.
Expenses are charged to the contract at 25% of Wages. Plant is to be

depreciated at 10% for the entire year.

Prepare Contract No. 303 Account for the year 2022 and make out the

Balance Sheet as on 31 December, 2022 in the books of Construction

Company. (18)

The following information for the year ended 31-12-2022 is obtained from

the books and records of a factory.

DTy
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(b)

11
Completed Jobs ~ Work-in-Progress

) 9]

Raw : ,
Materials supplied from stores 90,000 30,000

Wages

1,00,000 40,000
Chargeable expenses 10,000 4,000
Materials transferred to work-in-progress 2,000 2,000
Materials retuned to stores 1,000 -

Factory overhead is 80% of wages and office overhead is 25% of

factory cost. The price of the executed contracts during 2022 was 4,10,000.

Prepare

(i) Consolidated Completed Jobs Account showing the profit made or

loss incurred.

(ii) Consolidated Work-in-Progress Account. 9)

What do you understand by reconciliation of cost and financial

accounts? Indicate the reasons why it is necessary for the cost and

financial accounts of an organisation to be reconciled. Examine the reasons

he difference between cost and financial accounts maintained by an

)

fort

Organisation.

OR

Ry

(ALINDI COLLEGE LIBRARY
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(a) Joseph owns a fleet of taxis and the followin

the records maintained by him :

Number of taxis
Cost of each taxi
Salary of manager
Salary of accountant
Salary of cleaner
Salary of mechanic
Garage rent
Insurance premium
Annual tax

Driver’s salary

Annual repair

g information is available from

10

720,000

7,600 p.m-.

Z500 p.m

77,200 P.M.
Z7,400 p.m
%7,600 .p.m

5% per annum
Z600 per taxi
7200 p,m. per taxi

T1,000 per taxi

Total life of 2 taxi is 2,00,000 km. A taxi runs in all 3,000 km. in 2 month

of which 30% it runs empty. Petrol consumption is one litre for 10 km.

@ 11.80 per litre, Oil and other sundries are 5.00 per 100 km. Calculate

the cost of runn

(b) The fol

ing a taxi per km.

KAUND} CC}, ]

€

Jowing is the Trading and Profit & Loss Account of Philips.

CAE
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Particulars
To Matenals consumed
To Direct wages

To Production overheads

To Administration overheads
To Selling and distribution
To Bad debts written o

To Goodwill written off

To Fines

To Interest on Mortgage

To Loss on sale of machine
To Taxation

To Net Profit

€]
23.01,000
12.05,750

6.92,250

3,10,375
3,68,875
22,750
45,500
3,250
13,000
16,250
1,95,000
3,83,500
55,57,500

13

Particulars
By Sales (30,000 units)
By Finished goods stock
(1000 units)
By Work-in-progress:

Materials 55,250
Wages - 26,000
Production

overheads 16.250

By Dividends received
By Interest on bank deposits

€]
48,75,000
1.30,000

97,500

3.90,000
65,000

55,57,500

The cost accounting records of Philips Ltd. which manufactures a standard

unit show the following :

(i) Production overheads have been charged at 20% of prime cost.

(ii) Administration overheads have been recorded at 9.75 per finished

unit.

(iii) Selling and distribution overheads have been recorded at 13 per umt

sold.

Required :

(a) Prepare a Costing Profit & Loss Account, indicating net profit,

i

~E R
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(b) Prepare a statement reconding the profit disclosec

() R ST 3k ey e @ @ R WL A

14

with that shown in Financial Statement.

| by cost records

9)

(¢)

(@) 31 99, 2024 = ware qf & frv WEw FHFRT FE B @@ A e

SEER @ T R
T,
I | 3eumes 2,50,000
2 | yeme ?rqm—:'fr?ﬁm ITAAT T AT 3.18.200
3 |y =g 30,000
4 | =t 7,80,000
S | FEET FAF eI 10,000
6 | FTATET AqT TOMET 18,800
7 | 9999 T2 e 3,000
8 | Sra® Fe 5.400
9 |az @ ® T T AALA KD 8,500
10 | fmar, =¥ 8T %%
() FETEE 4,000
(ii) F1F 15,400
11 | gmr =4 3,600
T '!ITa'lﬁ' T I 3ﬂ—{ qﬂﬁQW 8,50
13 | g A WA W qerE 6.500
14 | FreE EHET 9T qeagEm 1000
15 | fret 1 12,000
16 | fm A AT (34 ¥R, 14 Frat 3.800
T@ (3/4 %38, 1/4 Frarvemy) 24,000
[ 18 [amm 2 4,000
19 | T 5,000
[ 20 [ emi# 22 L 2,000
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15

(i) 3 e, (i) epwearn e SR (i) He T A (iv) g w70 EY O
fRmwor dar v

rar

(12)

() vEd Dfww R sw @ aeE Rt & Fefofes faaor wem w

g

%. | fEEwor garTfor (%)
T, ]
1|1 ST, 2023 #7 F9 AR T EAF 150,000
2 |31 S 2023 W FF A FT E=(E 1.30,000
3 | g we 80,000
4 | Aaeaer 6.000
5 [1.12023 F1 1 WA W 56,000
6 | 31.1.2023 FF WA 9T 70,000
7 | Fg " A a@diw 1.60,000
8 | Tt P =¥ o faset 30,000
9 |® @ wefimdt F TR 7.000
10 | Tt sErar 25,000
11 mmwﬁﬁﬁnﬁwmmm 10,0000

12 | 1T 3T JATAAE T

FFet FHTT

AR FTATT T 25,000
' 110,000
13 | yraw 7 3,000
14| S 7Te 2.000
15 | fasma+= S,W
16 | arT 7sreft 12.000
17 | 1,1.2023 1 3T AT 7 &k (1,000 THC) 54,000
18 [ 31.1.2023 T AAW W AT wIF (2,000 L) E—
19 | qarrex |7 1.000 ]
20 | frmar-ahie e o s ] 2.000

AT SR T 2 BT U W A AR e e SR W 25% T AN Yoy
A A 31 WEA & 2R AR gemear 10,000 FEEAl W

VU
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(7) BFr @1 i ITAR- SR, B, @aE 3R Ay (5)

Jar

(F) T TR T FEUT Il 9 F gRE A HHH F o v dreareer Ao 491

FAHAT AT W 2.0

ATHTREF +9 F 5 40

g wer #gwedl & % 40 (L)

A+ /AT J0°T g gRe 15
e

TF A9 ¥ U arataT

SIS ICDE -

TET A 176

T B 140 F1F

AT T T¢I A AR IR B W 1 @ S T 80% IR AT & FW

IGET B8 W & & W F T 120%

2 AT B qEd, A Y FAY QG99 & 50% B TR 99 e
21 3, AT 3 Mg AT 3R TR ) A T W D T8 A A B 9
AT FAICI . (%)

(@) ere- T AR A - NN B A Fiew T A 2T - AT W T -ghww
%1 faftrdl @ 989 § TRy (9)
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(@) va W A N Ieqreer fammr A, B 3R

18
o 3t @ A fawm X 3y B wd @ ah

wﬁﬁﬁﬁ‘?ﬁﬁaﬂhmﬁwmmil

TR 24,000 | e AL 2o
Arziar ' a0 | et .
farm 22,000 | w=w 24,000
F=a faagor -
A B C X %
T A (A g 400 500 600 400 100
T2 WA () 900 600 900 900 700
TZE qiseH 20 30 40 20 10
woftat FT H.P. 75 30 25 10 -
FfTR FT T () 12.000 | 16,000 | 20,000 | 1,000 | 1,000
FIH F74 FT 0T 3.113 2.014 2.033 = -
Aar v X 3R Y & 2 FEER st e a2
X Y
- 10%
20% —

s st 2 6 S E R R e (4, B, s C) ¥ frafen
mﬁr@ﬁBﬂlaﬂﬁﬂmﬁﬁmaﬁmml (12)
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Jrerat

A ¥ I fag g - e AR

(@) Frafofe o1 & i w2 o ¢ A o AR

(F) SR R st srasivor sk 1R - BT & o AT 27 A o @ # A A

(6)

FRT K A 1,00,000
HEATTAT 10,000 |
AT T qEty A qEIH ¥ A AT AqAXE | o -
T (15 99) ’ |
gty wrg gew ¥ o femr & 200 ]
gfy Wg TFW ¥ fro AT S saeT 300

gfy af weftw ¥ forg dfwr chifaaw 960

afy ¢ W @ TEEE @d 1,000

Rt T 10 qfe Sfy e
afy 100 e faeet 1 7T 20

ofy o FETAT FH ¥ 6 2,200
(200€i%?ﬂmwﬁ?rwszrrﬁ?r ) 600 B

i ¥ g @ AR B 1/4 T ) O R R HAEE A e W W @

f%a—gmﬁ#ﬁﬁ?mﬁ?%fémmvsafwmﬁa?ﬁl

e e

NI | |- [ NARY
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(@) T B AT 3o e sl F Y B A A A B 31 FHH,
2022 aﬁmm%mmaﬁmﬁﬁaﬁmﬂmﬁm%:

Fo | AT afFal | I

® ® ®) ®)
T arwft 7542 | 2,600 | 1,980 2,962
RIS 9,000 | 2,000 3,000 4,000
SR AR 9,000 | - - -

1,000 3fE HY 3 Wi gfve Wi 1 ge e T o srafy 9 ges § O S
¥ Tl - A Wi A Y W ST SR W
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P | WREF | TR ¥ ame | afr gie o
A ST | TR W SR T T
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gfEFar Il . 840 o 10% 4
L@LL 750 15% 5

fraT ARTE @R SR SR T A B e R iR (12)
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|

O | B ‘
I | ¥ee | RO
TfRE=T 7 " (T gAe) _ 3,00,000 |
Iy

ki) 1,60,000 - |
SR LS - 72.000
% T 35.000 — ]
: I

9t =TET - 5.00,000 |

—

ATt 2,00,000 - |

CERl 1,80,000 - |

=7 47.000 - :

LpE] 2,50,000 -

8,72.000 8.72,000 |

e G 303 WA | THAR, 2022 & & faRan T @M 1,70,000 Y AT el
At Y R T T T oA, AfHT 6,000 % gl T gHe # A 8§ T

11 a6 @ ST 71,80,000 F) AT T ST AT TN R AA FFI R 50,000
& ST A G T IANT R T AT 2 R o ST e 6 ST

SR & 30 iR Fen T T o S AR R genr A o feI T AT 4,000
2 o & anE 31 g, 2022 & EEe W M

F&H 6,00,000 2 Fre o1 3K 3R FHTE F H 75% A e 817 2022
2 3iq 3 o FgEY T T e 80% o 31 K, 2022 T FHANOT Ry
%1 FA 15,000 A1 T T AwGq D 059, W @ o W B R A & g

mmw%wwmm%u

a§ 2022 @ forg FaY HEw 303 @ dar AR R P I D T8 @y
5 fegay, 2022 T dAF e T (18)
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5 (%) 31—12—2022ﬁmmﬁﬁ3mWMWW%m
IR HER A e @ A 2

[ @] R g @
g?»"{ﬁ T A frar T wgT A 90,000 30,000
[T 1,00,000 40,000
o T 10,000 4,000
FH-TR = TmEeE arn 2,000 2,000
TFET FT O ft T qrAd 1,000 -

PR AR HAGR F 80% 2 I SHHE AES DAY A W 25% 12022 F
T P SEtl 9 @ 4,10,000

frfofas dar iR :
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1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all question by selecting two parts from each question.

3. All Question are compulsory

1. (a) Explain the terms ‘Risk and Return” in the context of Investment. (7N
(b) What are Investment decision process? Differentiate Investment and Speculation. (8)

Or
Given following information:

Portfolios A B C Expected Return 30% 22% 2

0% Risk (Standard Deviation)28% 21% 14%. It is further

given that return on market index and risk-free asset is 19% and 10% respectively. The standard deviation of
market index is 14%. Which of the portfolio are efficient and inefficient on the basis of CML.

(15)

2. (a) What is risk-adjusted return? How is it better than absolute return? 8)

(b) What is Deep Discount Bond? How is the value of such bond calculated?

An investor purchases two months call option ¢

UR
Or
100 shares PICKO Ltd. at a strike can lodge 2 complaint

with security ombudsman? Price of 40 per share on paying a premium of 3 per share. Find his expef:ted gain
or loss per share and also the total gain and loss if the actual price of the share on the exercise date is 30, 35,

43, 45, and 50.

(15)

3. (a)Mutual fund is an Indirect Investment? Comment. (7

(b)Differentiate between Systematic and Unsystematic risk. (8)

Or

A bond having face value of 1,000 is currently sold at 1,078. The coupon rate (payable annually) is 12%. It

will be maturing after

8 years. What is the yield excepted on this bond by the investor? If this bond is

callable after 5 years at 1,050, what will be the yield? (15)
. . . ) - . le. (7)
Debt market 1s very much volatile. Explam with examp
* 8 I];l:;l)?:m the Dividend Discount Model of Equity Share valuation. (8)
Or ;

XYZ Company's current share price is 72

s from now? |
: yesar Write a short note on any five:

?))) P/E Ratio

) Zero Coupon bonds
d) Credit Rating

e) Forward Market

f MarkowitZ Theory

BRI A

KALIND! COLLEGE

and its last dividend paid was 4.80. If dividends are expec;.ed to
wth rate g and if required rate of return is 12%, what is XYZ's expected share price in

15
(1 (5%6=30)

gecidiatd

S WA 3

{BRARY



| (w) fdRr & el & R v Reed weal Y e 3y (7)
() fder faot wfsar @ ® B 3R gearsh # siaw qam, (8)
ar
Arafafg Jaeh & T
mﬁaﬁuzﬁﬁﬁﬁfﬂﬁﬁtﬁsoz 22% 20% WA (Fe1eh Faraerer) 28% 21% 14%| 3
5 fean mn © 6 AR qEEh 3R hRe-am quRt w Red waen 19% 3T 10% ¥ aoR

HADTE FN A T 14% | WCHUd & JUR | Fher a1 déwirar g 3R wem L)
(15)

2. (v) SNEH-gAAAa Red &= &2 a7 qof Reed @ & deak &2 (8)
(@) 2iu BEPrEe a5 w1 B0 9z & qew B qEr FN H A B (7)
- |

Teh fAdrh FSaTd W 100 AT &M &7 AL ST il AT PICKO oiferes @liear & o az
T Aehurel & U RIAIT gof T Fhar €23 ufa AW A NETE &3 W 40 ol AW B
| I vEer _Y W WK A areaiis Hag 30, 35, 43, 45, 3% 50 ¥ ar ofF AR ST
IUTET o1 A1 wfA AR For ot 3R @l oft Fa A (15)

3. (T)FGIeT $s Teh 3ycge Aaer 32 fecgof | (7)
(1) cHareyd AR eaaiedd SifEs F @ HaW B (8)
a1

1,000 3ifohd F{eT AT 18 TAAT H 1,078 T IAT AT 1 FUA &I (AVF &) 12% T TE
8 Tl dg URuad @ FATUN. fHAF gRT 39 a8 W fhdal 3T & Sigd @I I &2 IS
T g1 5 gui & g1 1,050 W dicl I &, dl 3UST T B (15)

4. (T) HRAT HOT SR aga AW ¥ SeTR0T Hieed Foresd | (7)
(@) fFadl AR Fediha F ATHIA TE Alsel B qrea | (8)

ar

XYZ S0 1 adaa R Hed 72 & AR FHAT AT AR HITATT 4.80 AT| TS I

e fadm @Y ¢ W dga &1 3ede & AR AR Read &1 smaeasds ax 12x 3.a0 3@ & 3 aul

# XYZ @ B AW Hoa T & (15)

5. fp=dl ufg WX us afew feoaoll ferd: (5+6=30)

T) dodion

dn /% sequra

M) N U 915

) %fse War

$) aEr AR

9) Aifdes Rigig
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